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Constable GD in Central Armed Police Forces CAPFs SSF Rifleman GD in Assam
Rifles Examination 2024

[Roll Number

Candidate Name

\Venue Name

Exam Date 20/02/2024

Exam Time 9:00 AM - 10:00 AM

Subject Constable GD Examination 2024

Q.1 Inthe following question. select the figure which can be placed at the sign of question mark (?) from the given
alternatives.

=) B BOH||(B0OB3
m 7
Ans E
x 1. m
=]=]=
=
X2 m
BOH
BHOH
3 m
=
& 4.

Question ID : 264330192064
Option 11D : 264330751612
Option 2 ID : 264330751613
Option 3 ID : 264330751611
Option 4 ID : 264330751610
Status : Answered
Chosen Option : 3
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Q.2 1n the following question, select the related letter pair from the given alternatives.
KW:FR:?
Ans X 1. BM: WO
X2 OC:CP
¥ 3 TU: DP
X4 AB:BM

Question ID : 264330188023
Option 1 1D : 264330736021
Option 2 ID : 264330736022
Option 3 ID : 264330736023
Option 4 ID : 264330736020
Status : Answered
Chosen Option : 3

Q.3 Which of the following numbers will replace the question mark (?) in the given series?
8.18,38,78,158,7?
Ans X 1. 200
K 2. 340
X3 268
4. 318
Question ID : 264330192259
Option 1 ID : 264330752392
Option 2 ID : 264330752391
Option 3 ID : 264330752390
Option 4 ID : 264330752393
Status : Answered
Chosen Option : 4
Q.4

‘Which two signs should be interchanged to make the given equation correct?
28+12-21+7=x4=060

Ans X' 1. x and =
&2 %and -
X3 +and~+
X 4. xand +

Question ID : 264330192081
Option 11D : 264330751680
Option 2 ID : 264330751679
Option 3 ID : 264330751681
Option 4 ID : 264330751678
Status : Answered
Chosen Option : 2
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Q.5 Ina certain code language. "LAMP" is coded as ‘IWJL". What is the code for ‘LOGS’ in that code language?

Ans 1 TKDO
X 2. IKEO
X 3. IKDP
X 4. IIDO
Question ID : 264330191313
Option 1 ID : 264330748606
Option 2 ID : 264330748608
Option 3 ID : 264330748607
Option 4 ID : 264330748609
Status : Answered
Chosen Option : 1
Q.6 Inthe following question. select the figure which can be placed at the sign of question mark (?) from the given
alternatives.
Ans
o |
x 2 .
o 4. I
Question ID : 264330187394
Option 1 1D : 264330733506
Option 2 ID : 264330733507
Option 3 ID : 264330733505
Option 4 ID : 264330733504
Status : Answered
Chosen Option : 4
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Q.7 Which of the following letter-number cluster will replace the question mark (?) in the given series?
TIML0, ULPI2, VNS14, WPV16. XRY1S, ?
Ans X 1. YSZ20
X2 YSZ21
X3 YTB21
¥ 4 YTB20

Question ID : 264330192268
Option 1 ID : 264330752428
Option 2 ID : 264330752427
Option 3 ID : 264330752426
Option 4 ID : 264330752429
Status : Answered
Chosen Option : 4

Q8 Arrange the given words in the sequence in which they occur in the dictionary.

1. Dear

ta

Dean

3. Deal

4. Dead

5. Death

Ans X 1. 13254
X 243251
o 3. 43215
X 4. 13245

Question ID : 264330187441
Option 11D : 264330733694
Option 2 ID : 264330733693
Option 3 ID : 264330733692
Option 4 ID : 264330733695
Status : Answered
Chosen Option : 3

Q.9  Four different positions of the same dice are given below. Find the number opposite of 23.

Ans
X2 25
X3 26
X4 21

Question ID : 264330192345
Option 11D : 264330752735
Option 2 ID : 264330752734
Option 3 ID : 264330752737
Option 4 ID : 264330752736
Status : Answered
Chosen Option : 1
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allowed)

U

Ans

1.

EE

[0

%

n

Q.10 From the given option figures, select the one i which the question figure is hidden/embedded. (rotation is not

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330191327
264330748663
264330748662
264330748665
264330748664
Answered

1

Bicycle : Pedal i Car : 7

Ans 1. Wheel
X 2. Hammer
X 3. Shovel
X 4. Door

Q.11 select the option that is related to the third word in the same way as the second word is related to the first word.

Question ID :
Option 11D :
Option 2 ID :
Option 31D :

Option 4 ID

264330192251
264330752360
264330752359
264330752358

1 264330752361
Status :
Chosen Option :

Answered
3
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Q.12 Three Starements are given followed by rwo conclusions numbered I and IT. Assuming the statements 1o be e, even if

they seem to be at variance with commonly kmown facts, decide which of the conclusions logically followy(s) from the
statements.

Statement I! All bats are balls.

Statement IT: All balls are badmintons.
Statement IIT: All badmintons are wickets.
Conclusion I: All bats are wickers.
Conclusion IT: Some badmintons are bats.

Ans X 1. Only conclusion I follows

X 2. Only conclusion IT follows

& 3. Neither conclusion I nor II follows

« 4. Both conclusions I and IT follow

Question ID : 264330192178
Option 1 1D : 264330752066
Option 2 ID : 264330752067
Option 3 ID : 264330752069
Option 4 ID : 264330752068
Status : Answered
Chosen Option : 4

Q13 In the following question, select the missing number from the given series.

142, 150, 123, 187, 62, 2
Ans X 1. 281

X2 285

3. 278

< 4300

Question ID : 264330187371
Option 1 1D : 264330733414
Option 2 ID : 264330733415
Option 3 ID : 264330733412
Option 4 ID : 264330733413
Status : Answered
Chosen Option : 3

Q.14 Eight boys Bl, B2, B3, B4, B5, B6, B7 and BS are sitting in a row facing towards the north (not necessarily in the same
order). Bé is fifth to the right of BL. B4 is fifth 1o the right of BS. BS is to the immediate right of B1. BS is third to the

left of B4. B2 is third to the right of B7. B7 is an immediate neighbour of B1. Who is sitting on the immediate left of
B1?

Ans X' 1. BSR
X2 B2
« 3. B7
X 4 B6

Question ID : 264330190496
Option 11D : 264330745567
Option 2 ID : 264330745566
Option 3 ID : 264330745569
Option 4 ID : 264330745568
Status : Answered
Chosen Option : 3
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Q15 Select the cube which cannot be formed on folding the given sheet.

o+

0

(]

©

Ans

4.

2 &) & @

Question ID : 264330192165
Option 1 ID : 264330752016
Option 2 ID : 264330752014
Option 3 ID : 264330752017
Option 4 ID : 264330752015
Status : Answered
Chosen Option : 4

Q.16 Ina certain code language, ‘FORCE' is coded as ‘83052°, ‘GAMES’ is coded as "42761", “FORUM" is coded as
‘08957". What is the code for ‘C” in that code language?

Ans X' 1. g
V2 3
X3 2

X45

Question ID : 264330187045
Option 1 ID : 264330732111
Option 2 ID : 264330732110
Option 3 ID : 264330732108
Option 4 ID : 264330732109
Status : Answered
Chosen Option : 2
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Jklnmojkdnmej lmnejk m ojklnn

Q.17 Which of the following groups of letters when sequentially placed from left to right will complete the given series?

Ans X' 1. mnol
X 2. knlo
+ 3 klno
X 4 jklm
Question ID : 264330192049
Option 1 ID : 264330751552
Option 2 ID : 264330751553
Option 3 ID : 264330751551
Option 4 ID : 264330751550
Status : Answered
Chosen Option : 3
Q.18 Five friends Alex, Ben, Chris. David. and Emma are sitting around a circular rable facing the center. Alex sits to the
imnmediate right of Ben. Alex is not sitting next to Chris or David. David is to the immediate right of Emma. Who is
sitting to the immediate right of Chris?
Ans X 1. Emma
X2 Alex
X 3. David
« 4 Ben
Question ID : 264330190295
Option 1 ID : 264330744764
Option 2 ID : 264330744765
Option 3 ID : 264330744763
Option 4 ID : 264330744762
Status : Answered
Chosen Option : 4
Q.19

T+ J' means 'I is the mother of I’

T+ T means 'T is the husband of T'

T+ I means 'I is the sister of T'

'T- T means I is the brother of I’

How is Q related to Z in the expression'Q + X +Y = Z'?
Ans X 1. Wife

+ 2. Father's sister

X 3. Wife's sister

X 4. Daughter

Question ID : 264330192095
Option 11D : 264330751737
Option 2 ID : 264330751734
Option 3 ID : 264330751736
Option 4 ID : 264330751735
Status : Answered
Chosen Option : 2
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Q20 Which two numbers should be interchanged to make the given equation correct?
8x0+4+5-3=2

Ans 1. 3and 9
X2 Sand4
X3 9and?2
X4 2and 5

Question ID : 264330188053
Option 11D : 264330736143
Option 2 ID : 264330736140
Option 3 ID : 264330736142
Option 4 ID : 264330736141
Status : Answered
Chosen Option : 1

Section : Part-B-General Knowledge and General awareness

Q.1 Pandit Birju Maharaj was an Indian dancer, composer, singer, and exponent of the "Kalka-Bindadin" Gharana
of Kathak dance in India.

Ans X 1. Hyderabad

« 2. Tucknow
X 3 Agra

X 4. Gwalior

Question ID : 264330191411
Option 11D : 264330748999
Option 2 ID : 264330749001
Option 3 ID : 264330748998
Option 4 ID : 264330749000
Status : Answered
Chosen Option : 2

Q2 wWho was the founder of the Satyashodhak Samaj?

Ans X 1. Haridas Thakur
X 2. Ghasidas
+ 3. Iyotirao Phule

X 4. Ishwarchandra Vidyasagar

Question ID : 264330190936
Option 1 ID : 264330747098
Option 2 ID : 264330747100
Option 3 ID : 264330747099
Option 4 1D : 264330747101
Status : Answered
Chosen Option : 3
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Ans

X 1. Chief Minister of JTharkhand
+ 2. Chief Minister of UP

X 3. Chief Minister of Kerala

X 4. Chief Minister of Bihar

Q.3 Which State’s Chief Minister has been awarded the Bharat Ratna Dr Ambedkar Award for fear free state, in May 20237

Question ID : 264330191749
Option 1 1D : 264330750352
Option 2 ID : 264330750351
Option 3 ID : 264330750353
Option 4 ID : 264330750350
Status : Answered
Chosen Option : 4
Q.4 Which institution was established in 2015, in the place of Planning commission of India?
Ans X 1. NABARD
+ 2. NITI Aayog
X 3. SEBI
X 4. RBI
Question ID : 264330191927
Option 1 ID : 264330751064
Option 2 ID : 264330751065
Option 3 ID : 264330751062
Option 4 ID : 264330751063
Status : Answered
Chosen Option : 2
Q.5 According to the Women's Reservation Bill, 2023, how many seats in the T ok Sabha and state legislative assemblies are
reserved for women?
Ans X 1. One-fourth
X 2. Half
+ 3. One-third
X 4. Two-thirds
Question ID : 264330191488
Option 11D : 264330749306
Option 2 ID : 264330749307
Option 3 ID : 264330749308
Option 4 ID : 264330749309
Status : Answered
Chosen Option : 3
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Ans X 1. R.D. Burman
+ 2. MLS. Subbulakshmi
X 3. Zakir Hussain
X 4 AR. Rahman

Q.6 Which Indian musician is the first singer to get the highest civilian honour, the Bharat Ratna?

Chosen Option :

Question ID : 264330192038
Option 1 ID : 264330751506
Option 2 ID : 264330751507
Option 3 ID : 264330751508
Option 4 ID : 264330751509
Status : Answered
Chosen Option : 2
Q.7  Who joined the Competition Commission of India (CCI) as Chairperson on 23rd May, 20237
Ans 1. Ravneet Kaur
X 2. Naina Lal Kidwai
X 3. Leena Nair
X 4. Shanti Ekambaram
Question ID : 264330188674
Option 11D : 264330738499
Option 2 ID : 264330738501
Option 3 ID : 264330738498
Option 4 ID : 264330738500
Status : Not Answered
Chosen Option : --
Q.8 iz the total process of collecting. compiling, analyzing and disseminating demographic, economic and
social data pertaining, at a specific time, of all persons in a country or a well-defined part of a country,
Ans 1. Population Census
X 2. National Survey
X 3. Population
X 4. Constitution
Question ID : 264330191734
Option 11D : 264330750290
Option 2 ID : 264330750291
Option 3 ID : 264330750292
Option 4 ID : 264330750293
Status : Answered

1
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Q.9 Complete the statement given below with respect to the judge’s removal.

The Indian Constitution :-

Ans 1. prescribes a very difficult procedure for removal of judges.

X 2. prescribes a very flexible procedure for removal of judges.

X 3. does not prescribe a procedure for removal of judges.
X 4.
prescribes a procedure for removal of high court judges only.

Question ID : 264330190920
Option 1 ID : 264330747034
Option 2 ID : 264330747035
Option 3 ID : 264330747036
Option 4 ID : 264330747037
Status : Not Answered

Chosen Option : --

Q.10 Which of the following statements is correct regarding badminron?
L At the beginning of the game of badminton and when the score (s even, the server serves from the left service court.

1L Server and receiver always stand in opposite service courts bur on the same side.

Ans X 1. BothIandII
X2 OnlyIl
X 3 OnlyI
+ 4. Neither I nor II

Question ID : 264330190603
Option 1 ID : 264330745996
Option 2 ID : 264330745995
Option 3 ID : 264330745994
Option 4 ID : 264330745997
Status : Answered
Chosen Option : 3

Q.11 is the most commonly used measure of money supply.
Ans X 1. M2

X2 M4

& 3. Ml

o 4 M3

Question ID : 264330188689
Option 11D : 264330738559
Option 2 ID : 264330738561
Option 3 ID : 264330738558
Option 4 ID : 264330738560
Status : Answered
Chosen Option : 3

Downloaded From www.exammix.com



Visit - www.exammix.com & Download All Shift CBT Question Papersin Hindi and English

Ans 1. Surupa Sen
X 2. Dr. Aruna Mohanty

X 3. Elam Endira Devi
X 4. Akham Lakshmi Devi

Q.12 Which Indian dancer won the Sangeet Natak Akademi Award for Odissi Dance in 20187

Chosen Option :

Question ID : 264330191239
Option 11D : 264330748310
Option 2 ID : 264330748311
Option 3 ID : 264330748312
Option 4 ID : 264330748313
Status : Not Answered
Chosen Option : --
Q.13 Barash is similar to the hindu festival Diwali, which is celebrated by which of following tribes?
Ans X 1. Munda
X 2. Santhal
+ 3. Varli and Kokna
X 4. Gond and Bhil
Question ID : 264330190811
Option 11D : 264330746600
Option 2 ID : 264330746601
Option 3 ID : 264330746599
Option 4 ID : 264330746598
Status : Not Answered
Chosen Option : --
Q.14 The First Economic Census of India was conducted thronghout the country, except Lakshadweep. curing
in collaboration with the StatesTinion Territories (UTs)
Ans 11977
X 2. 1987
X 3. 1967
X 4. 1997
Question ID : 264330191034
Option 11D : 264330747491
Option 2 ID : 264330747492
Option 3 ID : 264330747490
Option 4 ID : 264330747493
Status : Not Answered
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Q.15 When Mendeleev started his work, how many elements were known at that time?

Chosen Option :

Ans X' 1, 20
X2 47
X3 36
¥ 4 63
Question ID : 264330188677
Option 1 ID : 264330738510
Option 2 ID : 264330738512
Option 3 ID : 264330738511
Option 4 ID : 264330738513
Status : Not Answered
Chosen Option : --
Q.16 According to part IVA of Indian Constitution,” whe is a parent or guardian, has a duty 1o provide opportunities for
education to his child or, as the case may be, ward between the age of &
Ans X' 1. A4-14
V2 6-14
X3 6-12
X4 2.6
Question ID : 264330191420
Option 11D : 264330749035
Option 2 ID : 264330749036
Option 3 ID : 264330749037
Option 4 ID : 264330749034
Status : Answered
Chosen Option : 2
Q.17 The TAAF World Championships in Athletics became a fully professional competition from
Ans X 1. 1991
X 2.1993
« 3. 1997
X 4. 1995
Question ID : 264330188847
Option 11D : 264330739190
Option 2 ID : 264330739191
Option 3 ID : 264330739193
Option 4 ID : 264330739192
Status : Not Answered

Downloaded From www.exammix.com




Visit - www.exammix.com & Download All Shift CBT Question Papersin Hindi and English

Q.18 Open Network for Digital Commerce (ONDC) is an initiative by

Ans X 1. Ministry of Information and Broadcasting

X 3. Ministry of Statistics and Program Implementation
X 4. NITI Aayog

« 2. Department for Promotion of Industry and Internal Trade

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330188850
264330739205
264330739203
264330739204
264330739202
Not Answered

Q.19 What is the name of the earliest form of writing known in the Indian subcontinent?

Chosen Option :

Ans X 1. Pali Script
+ 2. Indus Script
A 3. Brahmi Script
X 4. Sanskrit Script
Question ID : 264330191476
Option 1 ID : 264330749258
Option 2 ID : 264330749260
Option 3 ID : 264330749259
Option 4 ID : 264330749261
Status : Answered
Chosen Option : 3
Q20 pangaswami Cup is associated with sports
Ans 1 Hockey
X 2. Football
X 3. Tennis
« 4. Badminton
Question ID : 264330191462
Option 1 ID : 264330749203
Option 2 ID : 264330749204
Option 3 ID : 264330749205
Option 4 ID : 264330749202
Status : Answered

1

Section : Part-C-Elementary Mathematics
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Ans X 1. 70 percent
X 2. 65 percent
« 3. 50 percent
X 4. 56 percent

Q.1 R can do a work in 90 days. What percent work of the total work can be done by R in 45 days?

Question ID : 264330188016
Option 1 ID : 264330735993
Option 2 ID : 264330735995
Option 3 ID : 264330735992
Option 4 ID : 264330735994
Status : Answered
Chosen Option : 3
Q.2  Rohit buys an old bat for Rs. 2320 and spends Rs. 180 on its repairing. If he sells it for Rs. 2400, then what is the loss
percentage?
Ans X 1. 10 percent
X 2. 5 percent
X 3. 8 percent
« 4. 4 percent
Question ID : 264330187187
Option 11D : 264330732677
Option 2 ID : 264330732676
Option 3 ID : 264330732679
Option 4 ID : 264330732678
Status : Answered
Chosen Option : 4
Q3 Evaluate:
175 %72+24+5)x20} +2
Ans X 1. 5800
X 2. 4300
« 3. 5300
X 4. 4850
Question ID : 264330192288
Option 1 ID : 264330752509
Option 2 ID : 264330752506
Option 3 ID : 264330752508
Option 4 ID : 264330752507
Status : Answered
Chosen Option : 3
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Q.4 The ages of 7 men in a cricket team are 26, 25, 21, 29, 24, 28 and 22. What is their average age?

Ans X' 1. 24
X2 23
3. 25
X4 22
Question ID : 264330192292
Option 1 ID : 264330752524
Option 2 ID : 264330752523
Option 3 ID : 264330752525
Option 4 ID : 264330752522
Status : Answered
Chosen Option : 3
Q5 YWhat is the value of [41 * {36 of 4 = (96 of 2 + 24)}]?
Ans X 1. 779
« 2. 738
X 3. 697
X 4. 656
Question ID : 264330187460
Option 1 ID : 264330733771
Option 2 ID : 264330733770
Option 3 ID : 264330733768
Option 4 ID : 264330733769
Status : Answered
Chosen Option : 2
Q6 Find the value of (7 + 33) x (44 = 2) % (5 x 5).
Ans  »1. 22,000
X 2. 21,000
X 3. 25,000
X 4. 22,500
Question ID : 264330188079
Option 1 ID : 264330736247
Option 2 ID : 264330736245
Option 3 ID : 264330736244
Option 4 ID : 264330736246
Status : Answered
Chosen Option : 1
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Q.7  There are 44 mangoes, 121 bananas and 11 apples, they have to be aranged in several rows in such a way that every
row contains equal number of fiuits and each row contains fruit of one type. What is the minimum number of rows?

Ans 116
X2 14
X3 13
X4 15
Question ID : 264330187202
Option 1 ID : 264330732737
Option 2 ID : 264330732736
Option 3 ID : 264330732739
Option 4 ID : 264330732738
Status : Answered
Chosen Option : 1
Q.8 Two trains are munning in opposite direction with the same speed. If the length of each train is 320 metres and they cross
each other in 18 seconds, then what is the speed of each ain?
Ans 1. 64 kmv/hr
X 2. 56 km/hr
X 3. 72 km/hr
X 4. 48 kmv'hr
Question ID : 264330187695
Option 11D : 264330734709
Option 2 ID : 264330734710
Option 3 ID : 264330734711
Option 4 ID : 264330734708
Status : Answered
Chosen Option : 1
Q.9  Selling price of an article is Rs. 5175 and discount of 25 percent is offered. What is the marked price of the article?
Ans X 1. Rs. 6600
¥ 2. Rs. 6900
X 3. Rs. 7000
X 4. Rs. 8500
Question ID : 264330187289
Option 11D : 264330733086
Option 2 ID : 264330733087
Option 3 ID : 264330733085
Option 4 ID : 264330733084
Status : Answered
Chosen Option : 2
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Q.10 Rs 7200 is divided among P, Q and R in the ratio of 1/2 : 4 : 3/2 respectively. What is the share of R?

Ans /1. Rs. 1800
X 2. Rs. 2400
X 3. Rs. 4800
A 4 Rs. 600

Question ID : 264330191641
Option 1 ID : 264330749920
Option 2 ID : 264330749921
Option 3 ID : 264330749919
Option 4 ID : 264330749918
Status : Answered
Chosen Option : 1

Q.11  Inan exam. out of total number of appeared students 93 percent smdents passed and 9275 smidents failed. What is the
total number of students appearad in the exam?

Ans X 1. 135500
X 2. 135550
X 3132550
4. 132500

Question ID : 264330187725
Option 11D : 264330734830
Option 2 ID : 264330734831
Option 3 ID : 264330734828
Option 4 ID : 264330734829
Status : Answered
Chosen Option : 4

Q.12 A sum of money placed at compound interest (compounding annually) doubles itself in 10 years. Find the time in which
it will amount to 4 times itself.

Ans X 1. 10 years
X 2. 15 years
X 3. 14 years
4. 20 years

Question ID : 264330191162
Option 1 ID : 264330748005
Option 2 ID : 264330748002
Option 3 ID : 264330748004
Option 4 ID : 264330748003
Status : Answered
Chosen Option : 4
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Q.13 Inone year, the average monthly expendimre of Sapna was Rs. 1100 for the first 3 months of the year. Rs. 1000 for the
next 5 manths and Rs. 1200 for the last 4 months. If the total annual saving was Rs. 1300, then what was sapna’s
average monthly income?

Ans 1 Rs. 1200
X 2. Rs. 1250
X3 Rs. 1210
X4 Rs. 1270

Question ID : 264330187944
Option 1 ID : 264330735706
Option 2 ID : 264330735704
Option 3 ID : 264330735705
Option 4 ID : 264330735707
Status : Answered
Chosen Option : 1

Q.14 A student scores 75% in a test and gets 30 marks more than another student who scored 60%. What is the maximum
marks in the test?

Ans X' 1. 120
& 2. 200
X 3150
X 4100

Question ID : 264330191174
Option 1 ID : 264330748052
Option 2 ID : 264330748053
Option 3 ID : 264330748051
Option 4 ID : 264330748050
Status : Answered
Chosen Option : 2

Q.15 BothA and B sells their watch at the rate of Rs. 5000 per watch. A earned a profit of 25 percent while B incurred a loss
of 10 percent. What is the ratio of cost prices of A and B?

Ans X 1.17:20
2 18:25
X3 16:25
X4 .9:10

Question ID : 264330187928
Option 1 1D : 264330735641
Option 2 ID : 264330735640
Option 3 ID : 264330735643
Option 4 ID : 264330735642
Status : Answered
Chosen Option : 2
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keep the area same?

Ans X 1. 14.28 percent
« 2. 12.5 percent
& 3. 14 percent
X 4. 16.66 percent

Q.16 If the length of a rectangle is increased by 14.25 percent, then by how much percentage its breadth should be reduced to

Question ID : 264330187638
Option 1 ID : 264330734482
Option 2 ID : 264330734480
Option 3 ID : 264330734483
Option 4 ID : 264330734481
Status : Answered
Chosen Option : 2
Q.17 Marked price of a chair is Rs. 2000. After giving two successive discounts of 20 percent and x percent, the chair is sold
for Rs. 1400, What is the value of x7
Ans 1. 12.5 percent
X 2. 20 percent
X 3. 25 percent
X 4. 10 percent
Question ID : 264330187750
Option 11D : 264330734930
Option 2 ID : 264330734931
Option 3 ID : 264330734928
Option 4 ID : 264330734929
Status : Answered
Chosen Option : 1
Q18 Tf M :N=09: 6, then what is the value of (M + N) : (M —N)?
Ans X 1. 5:2
X2 5:4
3 5:1
X4 1:5
Question ID : 264330188564
Option 11D : 264330738059
Option 2 ID : 264330738061
Option 3 ID : 264330738058
Option 4 ID : 264330738060
Status : Answered
Chosen Option : 3
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Ans X 1. 340/11 days
X 2. 340/7 days
X 3. 360/7 days
« 4. 360/11 days

Q.19 After working for 8 days. Rakhi finds that only 10 percent of the work is completed. She employs Poonam who is 20
percent more efficient than Rakhi. How many more days will they together take to complete the remaining work?

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330191646
264330749940
264330749941
264330749938
264330749939
Answered

4

Ans X 1. 1.5 percent
X 2. 2 percent
« 3. 1 percent

& 4. 3 percent

Q.20 The simple interest received on a sum for 40 years is 2/5 of the sum. What is the annual rate of interest?

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330187673
264330734623
264330734621
264330734622
264330734620
Answered

3

Section : Part-D-English

if there is no error in the sentence.

Ans X 1. older brother, but she is
« 2. no error

X 3. equally skilled in basketball.

« 4. She is not as taller as her

She iz not as taller as her! older brother, but she is/ equally skilled in basketball.

Q.1 The sentence has been divided into three parts, identify the error segment in the sentence given below. Choose no error

Question ID : 264330186403
Option 11D : 264330729829
Option 2 ID : 264330729831
Option 3 ID : 264330729830
Option 4 ID : 264330729828
Status : Answered
Chosen Option : 4
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Q2 Select the most appropriate option for the given blank.

My puns are usually greeted

Ans X 1. for

loud applause by my friends.

X2 to
X 3. against
+« 4 with
Question ID : 264330185567
Option 1 ID : 264330726646
Option 2 ID : 264330726647
Option 3 ID : 264330726645
Option 4 ID : 264330726644
Status : Answered
Chosen Option : 4
Q.3  Choose the idiom/phrase that can substitute the highlighted group of words meaningfully.
He often changes plans while doing his work. So, his tasks remain incomplete.
Ans X 1. Break a leg
+ 2. Change horses in midstream
A 3. In seventh heaven
X 4. Spill the beans
Question ID : 264330186692
Option 1 ID : 264330730930
Option 2 ID : 264330730929
Option 3 ID : 264330730931
Option 4 ID : 264330730928
Status : Answered
Chosen Option : 2
Q4 Improve the underlined part of the sentence. Choose ‘No imprevement” as an anawer if the sentence is grammatieally
correct.
T mesat an homeless person in New York.
Ans X 1. met an homeless
X 2. will met a homeless
+ 3. met a homeless
X 4. No improvement
Question ID : 264330186678
Option 1 ID : 264330730877
Option 2 ID : 264330730878
Option 3 ID : 264330730876
Option 4 ID : 264330730879
Status : Answered
Chosen Option : 3
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the IdiomPhrase.

Have a good min

Ans 1.

X 2. A good amount of money
X 3. Along journey

X 4. To escape from a prison

Q.5 Inthe following question. out of the given four altetnatives, select the alternative which best expresses the meaning of

To experience joy or success in some endeavour, but only for a limited period of time

Question ID : 264330186165
Option 11D : 264330728923
Option 2 ID : 264330728922
Option 3 ID : 264330728920
Option 4 ID : 264330728921
Status : Answered
Chosen Option : 1
Q.6  Foursentences are given. out of which three have all correct spellings. Choose the sentence with the incorrect spelt
word/ words,
Ans X 1.
I slipped the ramrod down it to make sure it was loaded, then I laid it across the turnip bacrel, pointing towards pap.
X 2. That made me pretty uneasy again, but only for a minute.
" 3.
But the hope in his wisdom was at length changed into dred, for no one beleived him when he said he knew no charms.
x4
He said he would watch out, and if they tried to come any such game on him he knew of a place six or seven mile off to
Stow 2 in.
Question ID : 264330186038
Option 1 ID : 264330728439
Option 2 ID : 264330728438
Option 3 ID : 264330728436
Option 4 ID : 264330728437
Status : Answered
Chosen Option : 3
Q.7  Fill in the blank with the most appropriate option.
Her mother is a wonderful host, she prepared for us a seven meal all by herself.
Ans 1. course
X 2. coarse
X 3. coarser
X 4. courser
Question ID : 264330186884
Option 11D : 264330731663
Option 2 ID : 264330731660
Option 3 ID : 264330731662
Option 4 ID : 264330731661
Status : Answered
Chosen Option : 1
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Q8 gelect the sentence with no spelling errors.

Ans X 1.
I had to play melody while simultaneocusly playing harmuny with him.
X 2.
I had to play melody while simultanously playing harmony with him.
o 3.
I had to play melody while simultanecusly playing harmony with him.
X 4.
I had to play melodie while simultaneously playing harmony with him.
Question ID : 264330185979
Option 11D : 264330728215
Option 2 ID : 264330728213
Option 3 ID : 264330728212
Option 4 ID : 264330728214
Status : Answered
Chosen Option : 3
Q.9  Tdenrify the segment that contains a grammatical error. If there is no error, select No error”.
And thereupon he sudden rememberad | that he was not sleeping in his wife’s room, but in his study, / and the smile
vanished from his face.
Ans X 1. No error
A 2. and the smile vanished from his face.
X 3.
that he was not sleeping in his wife’s room, but in his study.
« 4. And thereupon he sudden remembered
Question ID : 264330186507
Option 1 1D : 264330730227
Option 2 ID : 264330730226
Option 3 ID : 264330730225
Option 4 ID : 264330730224
Status : Answered
Chosen Option : 4
Q.10 Four words are given, out of which only one word is spelt correct. Choose the correct spelt word.
Ans X 1. SUPRISE
X 2. SUCCESFUL
« 3. WITHHOLD
X 4 RELEVENT
Question ID : 264330186903
Option 11D : 264330731732
Option 2 ID : 264330731733
Option 3 ID : 264330731734
Option 4 ID : 264330731735
Status : Answered
Chosen Option : 3
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cormrect.

My aunt has a petted Rhode Island Red rooster.

Ans X 1. No improvement

X 2. have a pet
X 3. had a petting
« 4. has a pet

Q.11 Improve the underlined part of the sentence. Choose *No improvement® as an answer if the sentence is grammarically

Question ID :

Option 1 ID

Option 3 ID

Status

264330186742

: 264330731123
Option 21D :

264330731121

1264330731122
Option 4 ID :

264330731120

: Answered
Chosen Option :

4

Q.12 Find the part of the given sentence that has an error in it. If there is no error, choose *No error’.

The health agency has encourage people around the world to wash their hands regularly.

Ans X 1. people around the world to
X 2. wash their hands regularly.
« 3. The health agency has encourage
X 4. No error
Question ID : 264330186698
Option 1 ID : 264330730953
Option 2 ID : 264330730954
Option 3 ID : 264330730952
Option 4 ID : 264330730955
Status : Answered
Chosen Option : 3
Q13 Select the most appropriate word to fill in the blank.
Mansa is not than Mamta.
Ans X 1. tallest
X 2. more taller
X 3. tall
+ 4. taller
Question ID : 264330186743
Option 1 ID : 264330731126
Option 2 ID : 264330731127
Option 3 ID : 264330731124
Option 4 ID : 264330731125
Status : Answered
Chosen Option : 4
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Q14 Choose the word that is opposite in meaning to the given word.

Antipathy

Ans X 1. Lament
X 2. Fecund
« 3. Love
X 4. Hate

Question ID : 264330186752
Option 1 1D : 264330731156
Option 2 ID : 264330731159
Option 3 ID : 264330731157
Option 4 ID : 264330731158
Status : Answered
Chosen Option : 3

Q.15 From the options given below choose the synonym (similar meaning) of the word:

Enervate
Ans X 1. Insecure
X 2. Desolation
X 3. Secure

« 4. Devitalize

Question ID : 264330186436
Option 1 1D : 264330729953
Option 2 ID : 264330729955
Option 3 ID : 264330729952
Option 4 ID : 264330729954
Status : Not Answered

Chosen Option : --

Comprehension:

Read the passage carefully and select the correct answer for the given blanks out of the four alternatives.

The causes of bipolar disorder aren't completely understood. but it often (1) to be hereditary, The first manic or
depressive episode of bipolar disorder usually (2)_  in the teenage years or early adulthood. The symptoms can be
subtle and confusing; many people with bipolar disorder are overlooked or misdiagnosed—resulting in unnecessary

(3) . Since bipolar dizorder tends to worsen without treatinent, it's important to lesam (4) the symptoms
lock like. Recognizing the problem is the first step to feeling better and getting your life backon (5)__ .

SubQuestion No : 16

Q16 Select the most appropriate option for blank(1)
Ans X 1. signs
X 2. Injects
X 3. pings

« 4. appears

Question ID : 264330186326
Option 1 1D : 264330729533
Option 2 ID : 264330729534
Option 3 ID : 264330729532
Option 4 ID : 264330729535
Status : Answered
Chosen Option : 4

Downloaded From www.exammix.com



Visit - www.exammix.com & Download All Shift CBT Question Papersin Hindi and English

Comprehension:

Read the passage carefully and select the correct answer for the given blanks out of the four alternatives.

The causes of bipolar disorder aren't completely understood. but it often (1) to be hereditary. The first manic or
depressive episode of bipolar disorder usvally (2) in the teenage years or early adulthood. The symptoms can be

subtle and confusing; many people with bipolar disorder are overlooked or misdiagnosed—resulting in unnecessary

(3) . Since bipolar disorder tends to worsen without treatinent, it's important to lesam (4) the symptoms
lock like. Recognizing the problem is the first step to feeling better and getting vour life back on (5)
SubQuestion No : 17
Q17 Select the most appropriate option for blank(2)
Ans X 1. turns
X 2. dwindles
« 3. DCCUrs
X 4. differs
Question ID : 264330186327
Option 1 ID : 264330729539
Option 2 ID : 264330729536
Option 3 ID : 264330729538
Option 4 ID : 264330729537
Status : Answered
Chosen Option : 3
Comprehension:
Read the passage carefully and select the correct answer for the given blanks out of the four alrernatives.
The causes of bipolar disorder aren't completely understood. but it often (1) to be hereditary, The first manic or
depressive episode of bipolar disorder usvally (2) in the teenage years or early adulthood. The symptoms can be
subtle and confusing; many people with bipolar disorder are overlooked or misdiagnosed Iting in ry
(3) . Since bipolar disorder tends to worsen without treatinent, it's important to lesam (4) the symptoms
lock like. Recognizing the problem is the first step to feeling better and getting your life back on (3) 2
SubQuestion No : 18
Q18 Select the most appropriate option for blank(3)
Ans X 1. chaos
< 2. blunder
X 3. caressing
« 4. suffering
Question ID : 264330186328
Option 11D : 264330729543
Option 2 ID : 264330729540
Option 3 ID : 264330729542
Option 4 ID : 264330729541
Status : Answered
Chosen Option : 4
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Comprehension:

Read the passage carefully and select the correct answer for the given blanks out of the four alternatives.

The causes of bipolar disorder aren't completely understood. but it often (1) to be hereditary. The first manic or
depressive episode of bipolar disorder usvally (2)_ in the teenage years or early adulthood. The symptoms can be
subtle and confusing; many people with bipolar disorder are overlooked or misdiagnosed—resulting in unnecessary

(3) . Since bipolar disorder tends to worsen without treatinent, it's important to lesam (4) the symptoms
lock like. Recognizing the problem is the first step to feeling better and getting your life backon (5)__ .

SubQuestion No : 19
Q19 Select the most appropriate option for blank(4)
Ans 1. what

X 2. why

A 3. which

X 4. where

Question ID : 264330186329
Option 1 ID : 264330729544
Option 2 ID : 264330729546
Option 3 ID : 264330729545
Option 4 ID : 264330729547
Status : Answered
Chosen Option : 1

Comprehension:

Read the passage carefully and select the correct answer for the given blanks out of the four alternatives.

The causes of bipolar disorder aren't completely understood. but it often (1) to be hereditary. The first manic or
depressive episode of bipolar disorder usvally (2)_ in the teenage years or early adulthood. The symptoms can be
subtle and confusing; many people with bipolar disorder are overlooked or misdiagnosed—resulting in unnecessary

(3) . Since bipolar disorder tends to worsen without treatment. 1t’s important to learn (4) the symptoms
lock like. Recognizing the problem is the first step to feeling better and getting vour life back on (5)

SubQuestion No : 20

Q20 Select the most appropriate option for blank(5)

Ans

X 1. platform
+ 2. track
X 3. time

&K 4. system

Question ID : 264330186330
Option 1 1D : 264330729549
Option 2 ID : 264330729551
Option 3 ID : 264330729548
Option 4 ID : 264330729550
Status : Answered
Chosen Option : 2

Section : Part-D-Hindi
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Q1 TR v &, 91 Feent & &, 30 ReeT &7 997 1 57 #rsF § &T 710 oeg & To87F & &
T RweT ¥

MW F R @ o aga & () o T g

Ans X1 o
2. geganr

X 3. 38T

X4

Question ID : 264330189813
Option 11D : 264330742888
Option 2 ID : 264330742887
Option 3 ID : 264330742889
Option 4 ID : 264330742886
Status : Not Answered

Chosen Option : --

Q.2 FpfHEgwE OR e 3 9, 39 e o1 909 o3 o S1g® & 3T 7Y e & Toigar ss &1 et fiher
TS
SRFWOTTNE @SR WG &1 T T AR g

Ans X 1. GCBRI
X 2 gfeEm
xo. T

v 4 3qH

Question ID :
Option 11D :
Option 21D :

Option 3 ID

Status

264330189930
264330743331
264330743332

1264330743330
Option 4 ID :

264330743333

: Not Answered
Chosen Option :

Q3 fFafafea g &, 9 feeat & &, 37 ey &1 997 &4 = fog o & B @ o &
T &l

TETeRE F @t am 7 T S me uAt w9 Jg &ar, 9% uF JEr H
Ans X 1. F9EIT
v R
X 3. HTER
X4 ey
Question ID : 264330189669
Option 1 ID : 264330742340
Option 2 ID : 264330742339
Option 3 ID : 264330742341
Option 4 ID : 264330742338
Status : Not Answered
Chosen Option : --
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Q4 frfefad vy ¥ 9r e 4 9, 39 e & 9 s o U g o198 o ara e 21
STTE T feRmT

X 1. O aRE  aRI H Al
K 2. HIY Goi-T

v & YYD a%]

X 4 AT gl

Ans

Question ID : 264330189724
Option 11D : 264330742549
Option 2 ID : 264330742546
Option 3 ID : 264330742548
Option 4 ID : 264330742547
Status : Not Answered

Chosen Option : --

° fau e o H Y@ifed YT 3 g Ifd e Tes @ TEE S|
0 Bid €1 SHI 9¢ TS ¢
Ans x 1. g_l'l—‘s'
X2 BIH
o 3. f,tﬂg
X 4. EI-E_,T

Question ID : 264330189329
Option 1 ID : 264330741042
Option 2 ID : 264330741045
Option 3 ID : 264330741044
Option 4 ID : 264330741043
Status : Not Answered

Chosen Option : --

*° Ry w ar # Waifed Weg 1 30 Weg 910 IR
HH BT GBUGRT A B

ans o ;

v 2. GgUaN

X o FRETTT

X4 BER

Question ID : 264330189197
Option 1 ID : 264330740540
Option 2 ID : 264330740539
Option 3 ID : 264330740541
Option 4 ID : 264330740538
Status : Not Answered

Chosen Option : --
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Q7 fgfied aeg 8 39 qeaiw o ugare Bed st 7 ol 7 Tadt T R O P R T T By
Fifm
I & 3y Udiervl G99 &l $& A $& (399 &/ G- H1S oilcl] 8, IR a8 [y 38y & J gaiao wy
fepeft e 2 o o o e & e @ B

A X0 ot e AT R aF arefiid e & fugiar g
X2 By AT E
X 3. G U0 & (9% GATaR0 Ga9 Bl $6 1 FS [dvd &
v 4 1Y J418 1d1 8, 2R ge favg 9%y &9 § ugiaru iR

Question ID

1 264330189916
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

264330743280
264330743281
264330743278
264330743279
Not Answered

*® Rue el § ¥ Ig od- arel b ed &7 9a B3|
A X1 ag i e P el

v 2 3Rd 7 §gd A gt B

X o fEud IR HEH Sl 8

X 4. T 1 qOHT HER Y 7d HU |

Question ID

Option 2 ID

Option 4 ID

1 264330189495
Option 11D :

264330741677

1264330741676
Option 31D :

264330741675

1264330741674
Status :
Chosen Option : --

Not Answered

Q9 Pl ywa # 9 et # 3, 39 Reey & w97 w1 fww we & e wd gfeeT = awer
e gl
# # 3 INER & WA gFEA S ae g

Ans K. srqeTer
X 2. &l

X 3. IMET
v feEeT

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option : --

264330189857
264330743055
264330743054
264330743057
264330743056
Not Answered
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W feu w gty A @ifed Usg &1 f9dm Wse 1d B

YUR TR B
Ans X 1. EMFd
X2 gud
X gigd
o 4 YT
Question ID : 264330189156
Option 1 ID : 264330740384
Option 2 ID : 264330740383
Option 3 ID : 264330740385
Option 4 ID : 264330740382
Status : Not Answered
Chosen Option : --

HEIE
e &

Ans 71 gﬂ@_[a_'ﬂ
X 2 el foerT
X3 HGPIHT

X 4 o[@l gl

QM Py m o, U e IR e o ¥, 59 fieed &1 909 & o 38 T8 qeTaR & o &1 9498 =0 ¥ =

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

264330189452
264330741510
264330741511
264330741513
264330741512
Not Answered

Chosen Option : --

faemif <rez 31 2reg & AT ¥ &1 § - faer + snff|
oK PR AR

72 faarlt wsg

X3 g g - faem + andf)

V4 Neg H AN Y

Q12 fyy e F1ae M TA Y, P FE IR 3 AR SR R T A I IR T T

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330189247
264330740733
264330740730
264330740732
264330740731
Not Answered

Downloaded From www.exammix.com




Visit - www.exammix.com & Download All Shift CBT Question Papersin Hindi and English

Ans X11%|3W
v 2 gigfafu
X3 It
X+ Ry

W fufaad aren & Waifed YT S g ues a1l wsg 31d Sifsu
gEIHIad ¥ g1y Y [Rrdl Ues i YEie Sueis ol g

Question ID : 264330190054
Option 1 ID : 264330743805

Chosen Option :

Option 2 ID : 264330743802
Option 3 ID : 264330743804
Option 4 ID : 264330743803
Status : Not Answered
Chosen Option : ==
Q1 ST a9T & Wi 9rT § BT oF s e 719 HiEw)
Zaarat &1 39=4 g He e gl
Ans ey *
- TG Hehldd
X2 FEar
K3 s7efieRariee
K4 TUROT FA
Question ID : 264330192818
Option 1 ID : 264330754622
Option 2 ID : 264330754623
Option 3 ID : 264330754624
Option 4 ID : 264330754625
Status : Not Answered
Chosen Option : --
Q15
f&T 10 aT # Ifed vaigard! Wse &1 9g dd Rad ®IF 3 gfd a3 |
Tdd @R T
R T
X2 fiRrge
X o T
X 4 G
Question ID : 264330189007
Option 1 ID : 264330739816
Option 2 ID : 264330739815
Option 3 ID : 264330739814
Option 4 ID : 264330739817
Status : Not Answered
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Comprehension:

7 T o em F 7T o o e o § o veiw Tew om § 9w Reew o § s oA &
& i @ FweT R warer # 9fF wem-

ey Tagree 915, B 2w &0 BRIE (THUETSE) F A T & = A6, B 7 UE IR

TIFIET (1) § Fr gg e AR it @ (2) ot & A=EE =i Smee 9e AT
¥ w7 T (3) et S e, sErafadd g, cosmdyeeE, el W ¥ IR
# Heg AT §| THUEUE FH FF ARSI T I3AF (4) FEt & AT 1999 # A iy

(5) T grataa T T am

SubQuestion No : 16
T g & fow e Suge e o1 a9 S
Ans X 1 HigaETa

X 2 3@?‘1?

X SR

4 TI@H

Question ID : 264330188978
Option 1 ID : 264330739704
Option 2 ID : 264330739703
Option 3 ID : 264330739702
Option 4 ID : 264330739705
Status : Not Answered

Chosen Option : --

Comprehension:

A T v eg # §o g o fiw o § o voiw Nee ww & 9 Reed fw aw ) s\ oA A
T i @ e e warer & 9fS wem-

SiHey ferEe a5g, B m2ftvy 30 oRad (TATETE) ¥ A7 ¥ & JT S 2, W & U -

R (1) § S g e A St 7 (2 g F A Rt dwee s s
¥ WE e (3) STt S A, EEATaU SATT, TR TS, foEEfew W % IR
# Feg AT §| THUEUE FH FF AZEAGT W A5 (4) Frat & e 1999 # A oify

(5) o mEATTea fomam @

SubQuestion No : 17

" Rad2 o 9e9 Sugad fased o1 999 i)
A

X 2. IM91gY

X3 AUl

X4 gR=g

Question ID : 264330188979
Option 1 ID : 264330739706
Option 2 ID : 264330739709
Option 3 ID : 264330739708
Option 4 ID : 264330739707
Status : Not Answered

Chosen Option : --
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Comprehension:

AR g Ao o R w i vir led e & o0 Reed Rr aw &) s I &
T i @ e e e # 9fS wem-

SiHey feEe a5y, B m2ftvy 30 oRad (TATETE) ¥ A7 ¥ & JT S 2, B & U -

TR (1) & = 7= &t s @it @ (2) &at & Ao Rftear Gwer sEer W
¥ 77 e (3) SATE S FYRE, ST FRAUT, TIHEEITEE, f9ERieE W % 39N
# Feg T §| THUEUE FH FF AZESNT 9T A% (4) Frat & e 1999 # AR onifa

(5) T FFATET foRar T

SubQuestion No : 18

" Rad3 o 9o9 Suged fAseq o1 999 i)
Ans x 1. &W

2. f3firg

X 3 fg4rgr

X4 ofcdd
Question ID : 264330188980
Option 1 ID : 264330739711
Option 2 ID : 264330739712
Option 3 ID : 264330739713
Option 4 ID : 264330739710
Status : Not Answered
Chosen Option : --
Comprehension:
A% BT o em # 3T g o R or § o v New om § e Reew e o ) s oAt &
& i @ FweT R warer # 9fF wem-
sirey Tagree 915, B 2w &0 BROE (THTETS) F A ¥ & =T A6 8, B 7 UE R
TFET (1) § Fr gg e AR it @ (2) ot & A=ET e e Yo F=ar
¥ 77 wee (3) dranfat SR e, EEr-aiatd ST, TaaSHTEE, FRTEi W % 3R
# Heg AT §| THUEUE FH FF ARSI W IAF (4) FE & R 1999 F A oy
(5) T grataa T T am
SubQuestion No : 19
Q.19
R4 & T a9 Iugad fddhed &1 9a- B |
Ans
X 1. 3Hd
v 2 Hdg
X3 afframfeRy
X4 §BR
Question ID : 264330188981
Option 1 ID : 264330739717
Option 2 ID : 264330739715
Option 3 ID : 264330739716
Option 4 ID : 264330739714
Status : Not Answered
Chosen Option : --
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Comprehension:

A T v eg # §o g o fiw o § o voiw Nee ww & 9w Reed fw aw ) s\ oA A
T i @ e e warer & 9fS wem-

SiHey feEe a5g, B m2ftvy 30 oRad (TATETE) ¥ A7 ¥ & JT S 2, B &7 U -

TR (1) g S gg & AR St 7 (2) &t & AT Rfeer dmee yae S
¥ 77 e (3) STt S A, EEATad SATT, TIEETEE, fEEfew W % IR
# Heg FOT §| THUETE # FE AgEdm 9 5% (4) FEt & BT 1999 & Aee aify

(5) o mEATTea fomam @

SubQuestion No : 20

" Rads $ o0 9o9 Sugad faseq ol 999 i)
Ans x 1. ﬂa

X2 ¢g

X3 g

4 UUDR

Question ID : 264330188982
Option 1 ID : 264330739721
Option 2 ID : 264330739718
Option 3 ID : 264330739719
Option 4 ID : 264330739720
Status : Not Answered

Chosen Option : --
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Constable GD in Central Armed Police Forces CAPFs SSF Rifleman GD in Assam
Rifles Examination 2024

[Roll Number
Candidate Name

\Venue Name

Exam Date 20/02/2024

Exam Time 11:30 AM - 12:30 PM

Subject Constable GD Examination 2024

Q.1  Inthe following question. select the figure which can be placed at the sign of question mark (?) from the given

alternatives.

d
5

» Vv

5

alcalealaal:

Ans

1.

Question ID : 264330190462
Option 1 ID : 264330745431
Option 2 ID : 264330745432
Option 3 ID : 264330745433
Option 4 ID : 264330745430
Status : Answered
Chosen Option : 1
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Q2 If40A10B8C 15=65and I5A30B 9 C 20=70, then
TAO9B3CE8=7
Ans X 1. 35
<2 20
« 3. 20
x4 31
Question ID : 264330187413
Option 11D : 264330733583
Option 2 ID : 264330733580
Option 3 ID : 264330733581
Option 4 ID : 264330733582
Status : Answered
Chosen Option : 3
Q.3 By interchanging which two signs and two numbers the equation will be correct?
8+4%x6+3-9=1
Ans  »1. xand+, 8and 9
X 2 +and =, 4and 6
X3 xand+,4and 9
X4 +and— 6and9
Question ID : 264330190160
Option 1 ID : 264330744225
Option 2 ID : 264330744224
Option 3 ID : 264330744222
Option 4 ID : 264330744223
Status : Answered
Chosen Option : 1
Q.4 Inthe following question halow are given some statements followed by some conchisions basad on those statameants.
Taking the given statements to be true even if they seem to be at variance from commonly known facts. Read all the
conclusions and then decide which of the given conclusion logically follows the given statements,
Statements:
I Some Hare R.
II. No P are H.
Conclusions:
L Some P are H.
II. Some R are not P.
Ans X 1. Both conclusions I and II follows
+ 2. Only conclusion II follows
X 3. Only conclusion I follows
X 4. Neither conclusion follows
Question ID : 264330190157
Option 1 ID : 264330744212
Option 2 ID : 264330744211
Option 3 ID : 264330744210
Option 4 ID : 264330744213
Status : Answered
Chosen Option : 4
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ghijkg ijkg ijk_hijkghij_

Q.5 Which of the following groups of letters when sequentially placed from left to right will complete the given series?

Ans x 1. hghg
X 2. kgih
x 3. ijkg
« 4. hhgk
Question ID : 264330188020
Option 1 ID : 264330736010
Option 2 ID : 264330736011
Option 3 ID : 264330736009
Option 4 ID : 264330736008
Status : Answered
Chosen Option : 4
Q.6 Five colleagues Zoe. Aaron, Ben, Chloe. and Daniel are sitting on a cireular table facing the center. Zoe is sitting to the
immediate left of Aaron. Chlee iz sitting next to Zoe, Daniel is sitting to the immediate right of Aaron. Whe is sitting ro
the immediate left of Zoe?
Ans X' 1 Ben
+ 2. Chloe
X 3. Daniel
X 4. Aaron
Question ID : 264330192256
Option 1 ID : 264330752381
Option 2 ID : 264330752380
Option 3 ID : 264330752379
Option 4 ID : 264330752378
Status : Answered
Chosen Option : 2
Q.7 A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
MRT, MQS, LPR, KOQ, 7
Ans X 1. KLR
X 2. MNP
« 3. JNP
X 4 JKL
Question ID : 264330190187
Option 1 ID : 264330744332
Option 2 ID : 264330744333
Option 3 ID : 264330744330
Option 4 1D : 264330744331
Status : Answered
Chosen Option : 3
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Q8  Arrange the given words in the sequence in which they occur in the dictionary.
1.Let
2. Lethargy
3. Letter
4. Lethal
5. Lest
Ans X 1. 15324
¥ 2 51423
X 3. 15234
X 4. 51243
Question ID : 264330190529
Option 1 1D : 264330745701
Option 2 ID : 264330745700
Option 3 ID : 264330745698
Option 4 ID : 264330745699
Status : Answered
Chosen Option : 2
Q.9 Inacertain code language, *“TDG’ is coded as * 16807, *BHI’ is coded as *432". What is the code for *KCE' in that code
language?
Ans X' 1 520
X2 425
& 3. 495
X 4. 465
Question ID : 264330187444
Option 1 ID : 264330733705
Option 2 ID : 264330733707
Option 3 ID : 264330733706
Option 4 ID : 264330733704
Status : Not Answered
Chosen Option : --
Q.10 Select the option that is related to the fifth letter cluster in the same way as the fourth letter cluster is related to the third
latter cluster and the second letter eluster i3 related to the first letter eluster
TEA : ZBDFSU @ SIN : MOHIRT = RIO : 7
Ans X 1. SQJHPN
X 2. SUDFZB
« 3 NPHIQS
X 4. BDSHFK
Question ID : 264330192211
Option 1 1D : 264330752200
Option 2 ID : 264330752198
Option 3 ID : 264330752199
Option 4 ID : 264330752201
Status : Answered
Chosen Option : 3
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one side only). Who is sitting second to the left of Raman?

Ans X 1. Rohit

Q.11 Eight persons from Reena, Kavita, Raman, Umesh, Rohit. Vikas, Monika and Priya sit around a square table such that
two persons sit in each of the sides. All the persons are sitting facing the centre of the table. Reena sits on
the immediate right of Rohit and they both sit on the same side. Monika faces the one who is second 1o the left of
Kavita. Monika is sitting fourth to the right of Reena. Two persons sit between Vikas and Umesh (when counted from
one side only) and Umesh is adjacent to Rohit. Only one person sits between Monika and Raman (when counted from

X 2. Monika
X 3. Priya
« 4 Reena
Question ID : 264330191517
Option 1 ID : 264330749422
Option 2 ID : 264330749423
Option 3 ID : 264330749425
Option 4 ID : 264330749424
Status : Not Answered
Chosen Option : --
Q12 Op folding the given die, which letter will be opposite to the letter 'n'?
1|r
n
Ans vl J
X2 h
X3r
X4 p
Question ID : 264330191605
Option 1 ID : 264330749776
Option 2 ID : 264330749775
Option 3 ID : 264330749777
Option 4 ID : 264330749774
Status : Answered
Chosen Option : 1
Q.13 Inacerain code language, *“TOWARD' is coded as *962147', “WANTED" is coded as *213957', What is the code for
SWARRANT® in that code langnage?
Ans X' 1. 2133129
X 2. 2145129
« 3. 2144139
X4 2144129
Question ID : 264330187445
Option 11D : 264330733710
Option 2 1D : 264330733711
Option 3 ID : 264330733708
Option 4 ID : 264330733709
Status : Answered
Chosen Option : 3
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Q.14 gelect the figure that will replace the question mark (?) in the following figure series.
A O % O * * * A
A o ?
A O
Ans
X 1.
oA
.‘.
~ 2.
A O
*
X 3.
A O
*
o 4.
A O
Question ID : 264330192084
Option 11D : 264330751690
Option 2 ID : 264330751691
Option 3 ID : 264330751693
Option 4 ID : 264330751692
Status : Answered
Chosen Option : 4
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Q.15 From the given option figures, select the one in which the question figure is hidden/embedded. (rotation is not allowed)

<

Ans

1.

X 3.

KRR

Question ID : 264330190565
Option 11D : 264330745843
Option 2 ID : 264330745842
Option 3 ID : 264330745845
Option 4 ID : 264330745844
Status : Answered
Chosen Option : 1
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Ans

2.

X 3

Q.16 From the given option figures, select the one in which the question figure is hidden/embedded. (rotation is not allowed)

Question ID :

Option 1 ID

Option 3 ID

Status

264330190346

1 264330744969
Option 21D :

264330744966

1 264330744968
Option 4 ID :

264330744967

: Answered
Chosen Option :

2

Ans

2673,
X1
o 2.
x 3.
X 4.

891,297, 99.2, 11
43
33
23
10

Q17 In the following question. select the missing number from the given series.

Question ID :

Option 1 1D

Option 3 ID

264330190138

1264330744134
Option 21D :

264330744137

1 264330744136
Option 4 ID :
Status :

Chosen Option :

264330744135
Answered
2
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of G.

How many male are there in family?

Q.18 Ais the father of B. B iz the brother of C. C is the husband of D. D is the sister of E. E is the mother of F. F is the wife

Ans X113
X2 2
X3 1
sS4 4
Question ID : 264330190114
Option 1 ID : 264330744040
Option 2 ID : 264330744039
Option 3 ID : 264330744038
Option 4 ID : 264330744041
Status : Answered
Chosen Option : 4
Q.19 Select the oprion that is related 1o the fifth word in the same way as the fourth word is related 1o the third word and the
second word i3 related 1o the first word.
ANT : ANTHILT :: DUCK : POND :: HORSE : ?
Ans X 1. KENNEL
X 2. DEN
X 3. BEEHIVE
« 4 STABLE
Question ID : 264330192312
Option 1 ID : 264330752604
Option 2 ID : 264330752603
Option 3 ID : 264330752605
Option 4 ID : 264330752602
Status : Answered
Chosen Option : 4
Q.20 11, the following question, select the missing number from the given series.
0, 1.5, 14,30,
Ans X 1. 66
X 2. 69
« 3. 55
X4 57
Question ID : 264330187071
Option 11D : 264330732212
Option 2 ID : 264330732215
Option 3 ID : 264330732213
Option 4 ID : 264330732214
Status : Answered
Chosen Option : 3

Section : Part-B-General Knowledge and General awareness
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Q1 Which sport is played by the Indian sportsperson Leander Paes?

Ans X 1. Cricket
+ 2. Lawn Tennis
X 3. Badminton
X 4. Table Tennis

Question ID : 264330188888
Option 1 ID : 264330739356
Option 2 ID : 264330739355
Option 3 ID : 264330739357
Option 4 ID : 264330739354
Status : Answered
Chosen Option : 2
Q2 pannalal Ghosh is famous for which musical instrument?
Ans 1. Flute
X 2. Shehnai
X 3. Ghatam
X 4. Tabla
Question ID : 264330188642
Option 1 ID : 264330738371
Option 2 ID : 264330738373
Option 3 ID : 264330738372
Option 4 ID : 264330738370
Status : Not Answered
Chosen Option : --
Q.3 As per Census-2011,Which of the following states have the highest female literacy rate?
Ans X 1. Mizoram
X 2. Tripura
+ 3. Kerala
X 4. West Bengal
Question ID : 264330191234
Option 1 ID : 264330748290
Option 2 ID : 264330748291
Option 3 ID : 264330748293
Option 4 ID : 264330748292
Status : Not Answered
Chosen Option : --
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Nehm.

Ans X 1. capitalist

« 2. socialist
& 3. Anarchism

X 4. Authoritarian capitalism

Q.4  After independence, India launched its First FYP in 1951, nnder influence of first Prime Minister Jawaharlal

Chosen Option :

Question ID : 264330190605
Option 1 ID : 264330746003
Option 2 ID : 264330746002
Option 3 ID : 264330746005
Option 4 ID : 264330746004
Status : Answered
Chosen Option : 2
Q.5 The Sangeet Natak Akademi is India's national academy for music, dance and drama. Tt was created by a resolution of
the (then) , Government of India, in 1952 with Dr PV, Rajamannar as its first Chalrman,
Ans X 1. Ministry of dances
X 2. Ministry of Transportation
« 3. Ministry of Education
X 4. Ministry of Art
Question ID : 264330191859
Option 1 ID : 264330750792
Option 2 ID : 264330750790
Option 3 ID : 264330750791
Option 4 ID : 264330750793
Status : Answered
Chosen Option : 4
Q.6 The Nehm Trophy competition near Alappuzha, held on the second Saturday of August every year, is the most
competitive and popular of the calegory.
Ans X 1. horse races
+ 2. boat races
X 3. basketball
X 4. badminton
Question ID : 264330191463
Option 1 ID : 264330749206
Option 2 ID : 264330749208
Option 3 ID : 264330749209
Option 4 ID : 264330749207
Status : Answered

1
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stanes during the Mauryan period.

Q.7 Famous book Arthashastra tells us that the north-west was important for blankets, and for its gold and precious

Ans X 1. west India
X 2. porth India
X 3. east India
+ 4. sputh India
Question ID : 264330191436
Option 1 ID : 264330749101
Option 2 ID : 264330749100
Option 3 ID : 264330749099
Option 4 ID : 264330749098
Status : Answered
Chosen Option : 4
Q.8 partners with DAY-NULM towards empowering women entrepreneurs in June 2023.
Ans X 1. UNGA
X 2. UNESCO
X 3. WHO
« 4 UNDP
Question ID : 264330191007
Option 11D : 264330747384
Option 2 ID : 264330747382
Option 3 ID : 264330747385
Option 4 ID : 264330747383
Status : Not Answered
Chosen Option : --
Q9 The Constituent Assembly adopted the constitution of India on
Ans X 1. 26th January 1950
X 2. 15th August 1947
+ 3. 26th November 1949
X 4. 24th January 1950
Question ID : 264330188864
Option 1 1D : 264330739259
Option 2 ID : 264330739260
Option 3 ID : 264330739261
Option 4 ID : 264330739258
Status : Answered
Chosen Option : 3
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Ans X 1. Sanjiv khanna
" 2. S Abdul Nazeer
#< 3. Sanjay Kishan Kaul
< 4. Bhushan Ramkrishna Gavai

Q.10 Which former SC judge has been appointed as the Governor of Andhra Pradesh?

Question ID :

Option 1 1D

264330188873

1 264330739296
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

264330739295
264330739294
264330739297
Not Answered

Ans X 1. social think
X 2. religious think
& 3. ethical think
« 4. policy think

Q11 A tank called the NITT Aayog was established to advise the government.

Question ID

Option 4 ID

1264330191827
Option 11D :
Option 21D :
Option 31D :

264330750662
264330750664
264330750665

1264330750663
Status :
Chosen Option :

Answered
4

Ans
« 2. 1t General Anil Chauhan

X 3. General Manoj Pande
A 4 Admiral R Hari Kumar

X 1. General Manoj Mukund Naravane

Q.12 Who has been appointed as the second Chief of Defence Staff (CDS) in India?

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330190849
264330746751
264330746752
264330746753
264330746750
Answered

2
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Q13 In which of the following states of India is the festival Bonalu celebrated?
Ans 1 Telangana
X 2. West Bengal
A 3. Tamil Nadu
X 4. Assam
Question ID : 264330191232
Option 1 ID : 264330748284
Option 2 ID : 264330748285
Option 3 ID : 264330748283
Option 4 ID : 264330748282
Status : Answered
Chosen Option : 1
@14 1n which year was the Treaty of Amritsar signed?
Ans X 1. 1808
X2 1811
A3 1810
+ 4. 1809
Question ID : 264330191937
Option 1 ID : 264330751102
Option 2 ID : 264330751105
Option 3 ID : 264330751104
Option 4 ID : 264330751103
Status : Answered
Chosen Option : 4
Q15 YWhich of the following is function of the Reserve Bank of India?
I. Issuing of currency
II. Lender of last resort
Ans X 1. Neither I nor II
X 2. OnlyII
X 3 OnlyI
+ 4 BothIand]II
Question ID : 264330190624
Option 1 ID : 264330746081
Option 2 ID : 264330746079
Option 3 ID : 264330746078
Option 4 ID : 264330746080
Status : Not Answered
Chosen Option : --
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Q16 Name the Indo-Persian Dance form from Uttar Pradesh.

Ans X 1. Kathakali
X 2. Garba
+ 3. Kathak
X 4. Chhau
Question ID : 264330190970
Option 1 ID : 264330747234
Option 2 ID : 264330747236
Option 3 ID : 264330747235
Option 4 ID : 264330747237
Status : Answered
Chosen Option : 3
Q.17 Which of the following is NOT one of the criteria to measure deprivations in the Socio-Economic and Caste Census
(SECC) 2011 conducted by the government of India?
Ans X 1. Households with differently-abled members
X 2. Households with no able bodied members
+ 3. Households with no adult female aged 15-59
& 4.
Households with only one room with no solid walls and roof
Question ID : 264330190774
Option 1 ID : 264330746452
Option 2 ID : 264330746453
Option 3 ID : 264330746451
Option 4 ID : 264330746450
Status : Not Answered
Chosen Option : --
Q.18 InIndia. subject to the provisions of article 333, the Legislative Assembly of each State shall consist of not more than
members.
Ans 1. five hundred
X 2. three hundred
A 3. six hundred
X 4. four hundred
Question ID : 264330188845
Option 1 ID : 264330739182
Option 2 ID : 264330739183
Option 3 ID : 264330739185
Option 4 ID : 264330739184
Status : Answered
Chosen Option : 1
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Q19 The loudness of sound is measured in which unit?
Ans % 1. Hertz (Hz)

X 2. Sound intensity

« 3. Decibel (dB)

X 4. Watt/sq. Metre (w/m?)

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :
1

Chosen Option

264330188857
264330739230
264330739232
264330739231
264330739233
Answered

Q20 yWhich of the following terms is NOT related with cricket?
I. Eagle

II. Basket
+ 1. BothIandII
X 2 OnlyI

X 3 OnlyII
& 4. Neither I nor IT

Ans

Question ID :
Option 11D :
Option 2 ID :
Option 31D :

Option 4 ID

Chosen Option

264330191082
264330747684
264330747682
264330747683

1264330747685
Status :
1

Answered

Section : Part-C-Elementary Mathematics

Q.1
Ans < 1. 124
X2 120
3 121

X4 123

If 72 binders can bind 720 books in 22 days. how many binders will be required to bind 660 books in 12 days?

Question ID :
Option 11D :
Option 21D :
Option 31D :

Option 4 ID :
Status :
Chosen Option :

264330188510
264330737842
264330737845
264330737843
264330737844
Answered

3
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Q.2  Selling price of a table s Rs. 6875, If profit percentage is 25 percent. then what is the cost price of table?

Ans X 1. Rs. 6400

« 2. Rs, 5500
# 3. Rs. 5000
X 4 Rs. 5200
Question ID : 264330188600
Option 1 ID : 264330738205
Option 2 ID : 264330738203
Option 3 ID : 264330738202
Option 4 ID : 264330738204
Status : Answered
Chosen Option : 2
Q.3 25 percent of 20 percent of a number is equal to 250. What is the 35 percent of that number?
Ans 1. 1750
X 2. 1570
X 31650
X 4. 1560
Question ID : 264330187245
Option 1 ID : 264330732910
Option 2 ID : 264330732911
Option 3 ID : 264330732908
Option 4 ID : 264330732909
Status : Answered
Chosen Option : 1
Q.4 Swapnil can build a sofa in 16 days. Working together with Revathi he ean finish the work in 128/17 days. Find the
number of days taken by Revathi to complete the work if she works alone.
Ans X 1. 128/17 days
X 2. 128/16 days
X 3. 6 days
« 4. 128/9 days
Question ID : 264330192485
Option 11D : 264330753295
Option 2 ID : 264330753296
Option 3 ID : 264330753297
Option 4 ID : 264330753294
Status : Not Answered
Chosen Option : --
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Q.5 Rs. 9000 is lent ar the rate of 80 percent per anmim on compound interest {compounded half yvearly). What will be the
compound interest of 12 months?
Ans X 1. Rs. 8700
X 2. Rs. 9000
« 3. Rs. 8640
X 4. Rs. 8760
Question ID : 264330187974
Option 1 ID : 264330735827
Option 2 ID : 264330735826
Option 3 ID : 264330735825
Option 4 ID : 264330735824
Status : Answered
Chosen Option : 3
Q.6  The product of two numbers is 720 and their Highest Commeon Factor is 4. What is the Least Common Multiple of these
numbers?
Ans X 1. 120
X 2. 480
« 3. 180
X 4 240
Question ID : 264330187541
Option 1 ID : 264330734094
Option 2 ID : 264330734092
Option 3 ID : 264330734093
Option 4 ID : 264330734095
Status : Answered
Chosen Option : 3
Q.7 If 45 percent of X is equal to 15 percent of Y. then what is the value of X : Y?
Ans X 1. 1:4
X2 3:1
X3 3:2
w4 1:3
Question ID : 264330188011
Option 1 ID : 264330735975
Option 2 ID : 264330735972
Option 3 ID : 264330735973
Option 4 ID : 264330735974
Status : Answered
Chosen Option : 4
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Q.8 1fthe cost price of 6 pens is the same as the selling price of 5 pens. find the profit/loss percentage.

Ans 1.
X 2
X 3
X 4.

20% profit
20% loss
10% loss
10% profit

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330190736
264330746377
264330746374
264330746376
264330746375
Answered

1

Q.9  The marked price of an article is 60 percent more than its cost price, If 20 percent discount is given, then what will be
the profit percentage?

Ans s
X 2
X 3.
X 4.

28 percent
33 percent
30 percent
34 percent

Question ID :
Option 11D :
Option 2D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330187570
264330734209
264330734210
264330734208
264330734211
Answered

1

Q.10 What is the curved surface area of a cylinder having radius of base as 70 cm and height as 14 ecm?

Ans & 1.

x 2.
x 3.
x 4.

6160 cm”
6420 cm?
5930 cm?
6350 cm?

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330187318
264330733201
264330733202
264330733200
264330733203
Answered

1
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Q.11 A train of length 384 metres crosses an electric pole in 12 seconds and crosses another train of the same length
wavelling in opposite direction in 12 seconds. What is the spead of the second train?

Ans X1 45m/s
X2 39m/s
3 32m/s
X4 25m/s

Question ID : 264330187635
Option 1 ID : 264330734471
Option 2 ID : 264330734469
Option 3 ID : 264330734468
Option 4 ID : 264330734470
Status : Marked For Review
Chosen Option : 3

Q12 yWhat will be the average of all the prime numbers before 327

Ans 1 14.54
X2 13.26
X 3. 15.60
x4 17.82

Question ID : 264330188003
Option 1 ID : 264330735941
Option 2 ID : 264330735942
Option 3 ID : 264330735943
Option 4 ID : 264330735940
Status : Answered
Chosen Option : 1

Q.13  The average of five numbers iz 32, If one number is removed. then the average becomes 28, What is the removed

mmber?

Ans X 1. 47
X2 52
X3 49
o 4 48

Question ID : 264330187284

Option 1 ID : 264330733067

Option 2 ID : 264330733065

Option 3 ID : 264330733066

Option 4 ID : 264330733064

Status : Answered
Chosen Option : 4
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each student gets the same number of each.

Ans X 1. 19
X2 29
3 17
X 4. 33

Q.14 Find the maximum number of students among whom 1003 chocolates and 2703 candies can be distributed such that

Question ID

Option 11D :

Option 2 ID

Option 31D :
Option 4 ID :
Status :

Chosen Option

1264330188417
264330737537

1 264330737538
264330737536
264330737539
Marked For Review
03

to buy 13 pen, how much will he have to pay ?

Ans X 1. Rs. 2500

Q.15 The price of 3 notebooks and 6 is Ks. 3000. With the same money one can buy a notebooks and 12 pen, Raju wants
p pen ¥ y P \u

X 2. Rs. 3500
+ 3 Rs. 3000
X 4. Rs. 2000
Question ID : 264330192389
Option 11D : 264330752911
Option 2 ID : 264330752913
Option 3 ID : 264330752912
Option 4 ID : 264330752910
Status : Answered
Chosen Option : 3
Q.16 Radius of a sphere is increased by 50 percent. What will be the percentage increase in its volume?
Ans X' 1. 225.5 percent
X 2. 235.5 percent
« 3. 237.5 percent
& 4. 150 percent
Question ID : 264330187526
Option 1 1D : 264330734035
Option 2 ID : 264330734034
Option 3 ID : 264330734033
Option 4 ID : 264330734032
Status : Answered
Chosen Option : 3
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Q.17 A trader marks his goods 50% above the cost price and offers a discount of 20%. What is the percentage profit the trader
makes after offering the discount?

Ans X 1. 18%

72 20%
X3 12%
< 4 10%
Question ID : 264330188502
Option 1 ID : 264330737813
Option 2 ID : 264330737812
Option 3 ID : 264330737810
Option 4 ID : 264330737811
Status : Answered
Chosen Option : 2
Q18 R 8400 is divided among P,Q and R in the ratio of E: 3: irespecu'vely. What is the share of R?
Ans X 1. Rs. 900
X 2. Rs. 1400
« 3 Rs. 700
# 4. Rs, 18000
Question ID : 264330188585
Option 1 ID : 264330738145
Option 2 ID : 264330738143
Option 3 ID : 264330738142
Option 4 ID : 264330738144
Status : Answered
Chosen Option : 3
Q.19 . 5
What is the value of (0.1)2 + (0.01)%2
Ans 1. 0.0101
X 2. 0.005
~< 3 1.101
X4 0111
Question ID : 264330187521
Option 1 1D : 264330734013
Option 2 ID : 264330734014
Option 3 ID : 264330734015
Option 4 ID : 264330734012
Status : Answered
Chosen Option : 1
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Q.20 The simple inerest received on a sum for 5 years is 2/5 of the sum. What is the annual rate of interest?

Ans X 1. 9 percent
X 2. 12 percent
& 3. 10 percent

« 4. 8 percent

Question ID : 264330187253
Option 1 ID : 264330732943
Option 2 ID : 264330732941
Option 3 ID : 264330732940
Option 4 ID : 264330732942
Status : Answered
Chosen Option : 4
Section : Part-D-English
@1 Choose the word that is opposite in meaning to the given word.
Aqueous
Ans 1. Arid
X 2. Hydrated
X 3. Saturated
X 4 Wet
Question ID : 264330186269
Option 11D : 264330729318
Option 2 ID : 264330729316
Option 3 ID : 264330729319
Option 4 ID : 264330729317
Status : Answered
Chosen Option : 1
Q2 Choose the most appropriate antonym of the underlined word.
Visitors enter the train and snake through its corridors and opulent interiors.
Ans X 1. plush
X 2. scary
+ 3. economical
X 4. lavish
Question ID : 264330186228
Option 11D : 264330729161
Option 2 ID : 264330729162
Option 3 ID : 264330729163
Option 4 ID : 264330729160
Status : Answered
Chosen Option : 3
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Q.3 Improve the underlined part of the sentence. Choose ‘No impravement” as an answer if the sentence is grammarically
correct.

T was needing to buy a new pair of gloves.

Ans

X 1. needs to buy
+ 2. need to buy
X 3. No improvement

X 4. needed to bought

Question ID : 264330186720
Option 11D : 264330731036
Option 2 ID : 264330731037
Option 3 ID : 264330731039
Option 4 ID : 264330731038
Status : Answered
Chosen Option : 2

Q.4 Choose the idiom/phrase that can substitute the highlighted group of words meaningfully.

I have never seen someone so easily scared. She is so nervous.

Ans 1. Afraid of one’s own shadow
X 2. In seventh heaven
X 3. Lost cause
X 4. Spilled the beans

Question ID : 264330185998
Option 1 1D : 264330728285
Option 2 ID : 264330728287
Option 3 ID : 264330728286
Option 4 ID : 264330728284
Status : Answered
Chosen Option : 3

Q.5  Select the most appropriate word to fill in the blank.

With sales down, the company closed one factory down and reduced workforce at another.

Ans 1. the
X 2. an

& 3. No article
X 4 a

Question ID : 264330185902
Option 11D : 264330727922
Option 2 ID : 264330727921
Option 3 ID : 264330727923
Option 4 ID : 264330727920
Status : Answered
Chosen Option : 1
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The toad lay in her lap breathing heavy.
Ans 1. breathing heavy.

X 2. The toad lay

X 3. in her lap

& 4. No error

Q.6  Find the part of the given sentence that has an error in it. If there is no error, choose “No error’.

Question ID : 264330186107
Option 1 ID : 264330728702
Option 2 ID : 264330728700
Option 3 ID : 264330728701
Option 4 ID : 264330728703
Status : Answered
Chosen Option : 1
Q.7  Foursentences are given. out of which three have all correct spellings. Choose the sentence with the incorrect spelt
word/ words,
Ans 1.
This reproach of my dependance had become a vague sing-song in my ear.
~ 2.
He walked on choking and would have marched directly up into the other party. but Abe stopped him.
X 3.
Rosemary was from the middle of the middle class, catapulted by her mother onto the uncharted heights of Hollywood.
X 4.
They had been two days in Paris but actually they were still under the beach umbrella.
Question ID : 264330186987
Option 1 ID : 264330732053
Option 2 ID : 264330732052
Option 3 ID : 264330732055
Option 4 ID : 264330732054
Status : Answered
Chosen Option : 1
Q.8 Improve the underlined part of the sentence. Choose ‘No improvement® as an answer if the sentence is grammatically
correct.
Tf vou don't water your houseplants, they will dies.
Ans X 1. will death
X 2. No improvement
+ 3. will die
X 4. shall dies
Question ID : 264330185922
Option 1 ID : 264330727998
Option 2 ID : 264330727999
Option 3 ID : 264330727996
Option 4 ID : 264330727997
Status : Answered
Chosen Option : 3

Downloaded From www.exammix.com




Visit - www.exammix.com & Download All Shift CBT Question Papersin Hindi and English

Q9 gelect the most appropriate synonym of the given word.

Absolute

Ans X 1. Divine
« 2. Complete
X 3. Final
X 4. Bounded

Question ID : 264330186919
Option 1 1D : 264330731792
Option 2 ID : 264330731794
Option 3 ID : 264330731793
Option 4 ID : 264330731795
Status : Answered
Chosen Option : 2

Q.10 Find the part of the given sentence that has an error in it If there is no error, choose “No error”.

Some analysts have began to advocate for strong government involvement in the development and regulation of cyber
security standards for satellites.

Ans X 1. No error
+ 2. Some analysts have began to advocate for strong

X 3. of cyber security standards for satellites.
X 4.
government involvement in the development and regulation

Question ID : 264330186740
Option 1 1D : 264330731115
Option 2 ID : 264330731112

Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330731114
264330731113
Answered

1

Q.11 Inthe following question. out of the given four alternatives, select the alternative which best expresses the meaning of
the Idiom Phrase.
Go with a bang

Ans X 1. To go crazy

« 2. Very exciting and successful
X 3. Party like there’s no tomorrow

X 4. Decide according to the situation

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330186039
264330728441
264330728440
264330728442
264330728443
Not Answered

Downloaded From www.exammix.com




Visit - www.exammix.com & Download All Shift CBT Question Papersin Hindi and English

Q12 Select the sentence with no spelling errors.
Ans X 1.
There was acute disharmony in the room, where a litle time before there had been ar lest an outward show of harmeny.
X 2.
There was acute disarmony in the room. where a little time before there had been at least an outward show of harmony.
o 3.
There was acute disharmony in the room, where a little time before there had been at least an outward show of harmony.
X 4.
There was acute disharmony in the room, where a little time before there had been at least an outward show
of harmonie.
Question ID : 264330186126
Option 1 ID : 264330728774
Option 2 ID : 264330728772
Option 3 ID : 264330728773
Option 4 ID : 264330728775
Status : Answered
Chosen Option : 3
Q13 Select the most appropriate option for the given blank.
I have my mind after meeting her.
Ans X 1. Replaced
« 2. Changed
X 3. Masked
X 4. Granted
Question ID : 264330185812
Option 1 ID : 264330727578
Option 2 ID : 264330727579
Option 3 ID : 264330727576
Option 4 ID : 264330727577
Status : Answered
Chosen Option : 2
Q.14 Seleer the word segment thar substimites (replaces) the brackered word segment correetly and completes the sentence
meaningfully. Select the option 'no correction required' if the sentence is cotrect as given,
Presently Rosemary (seems ta have know) those people herself in some deplorable past, and then got on 1o them and
rejectad them.
Ans 1. seemed to have known
X 2. seem to know
X 3. seemed to knew
X 4. No correction required
Question ID : 264330186931
Option 1 ID : 264330731842
Option 2 ID : 264330731840
Option 3 ID : 264330731841
Option 4 ID : 264330731843
Status : Answered
Chosen Option : 1
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Q.15 Find the part of the given sentence that has an error in it. If there is no error, choose *No error’.
Do your better and avoid what others are saying about you.

Ans X 1. saying about you.

X 2. No error

# 3. avoid what others are

« 4. Do your better and

Question ID : 264330186129
Option 1 ID : 264330728786
Option 2 ID : 264330728787
Option 3 ID : 264330728785
Option 4 ID : 264330728784
Status : Answered
Chosen Option : 4

Comprehension:

Read the passage carefully and select the correct answer for the given blanks owt of the four alternatives.

Lions have large jaws and are capable of (1) up to 11 inches wide. They have long canine teeth which are used o
(2) and kill their prey. Lions do not chew their food. Small incisors at the front of their mouth are used to grip
the meat (3) their sharp carnasial teeth in the back of their mouth tear it into (4) they can swallow. In the
wild male lions live to around 12 years of age, with females living to around 15 vears of age, whereas in (5) they
can live up to 23 years of age.

SubQuestion No : 16

Q16 Select the most appropriate option for blank (1)
Ans X 1. jumping
X 2. signing
« 3. opening

X 4. standing

Question ID : 264330185905
Option 11D : 264330727929
Option 2 ID : 264330727930
Option 3 ID : 264330727931
Option 4 ID : 264330727928
Status : Answered
Chosen Option : 3
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Comprehension:

Read the passage carefully and select the correct answer for the given blanks owt of the four alternatives.

Lions have large jaws and are capable of (1) up to 11 inches wide. They have long canine teeth which are used o
(2) and kill their prey. Lions do not chew their food. Small incisors at the front of their mouth are used to grip
themeat(3)__  their sharp carnasial teeth in the back of their mouth tear it into (4) they can swallow. In the
wild male lions live to around 12 years of age, with females living to around 15 vears of age, whereas in (5) they
can live up to 23 years of age.

SubQuestion No : 17

Q17 Select the most appropriate option for blank (2)

Ans X 1. host
X 2. remiss
X 3. loathe
" 4. grasp
Question ID : 264330185906
Option 1 1D : 264330727935
Option 2 ID : 264330727932
Option 3 ID : 264330727933
Option 4 ID : 264330727934
Status : Answered
Chosen Option : 4
Comprehension:

Read the passage carefully and select the correct answer for the given blanks our of the four alternatives.

Lions have large jaws and are capable of (1) up to 11 inches wide. They have long canine teeth which are used o
(2) and kill their prey. Lions do not chew their food. Small incisors at the front of their mouth are used to grip
the meat (3) their sharp carnasial teeth in the back of their mouth tear it into (4) they can swallow. In the
wild male lions live to around 12 years of age, with females living to around 15 years of age, whereas in (5) they
can live up to 23 years of age.

SubQuestion No : 18

Q18 Select the most appropriate option for blank (3)
Ans X 1. What

X 2. Whence

+ 3. Whilst

X4 As

Question ID : 264330185907
Option 11D : 264330727936
Option 2 ID : 264330727939
Option 3 ID : 264330727937
Option 4 ID : 264330727938
Status : Not Answered

Chosen Option : --
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Comprehension:

Read the passage carefully and select the correct answer for the given blanks out of the four alternatives.

Lions have large jaws and are capable of (1) up to 11 inches wide. They have long canine teeth which are used o

(2) and kill their prey. Lions do not chew their food. Small incisors at the front of their mouth are used to grip
the meat (3) their sharp carnasial teeth in the back of their mouth tear it into (4) they can swallow. In the
wild male lions live to around 12 years of age, with females living to around 15 vears of age, whereas in (5) they
can live up to 23 years of age.
SubQuestion No : 19
Q19 Select the most appropriate option for blank (4)
Ans X 1. hordes
+ 2. chunks
X 3. pecks
X 4. divisions
Question ID : 264330185908
Option 1 ID : 264330727943
Option 2 ID : 264330727940
Option 3 ID : 264330727942
Option 4 1D : 264330727941
Status : Answered
Chosen Option : 3
Comprehension:
Read the passage carefully and select the correct answer for the given blanks our of the four alternatives.
Lions have large jaws and are capable of (1) up to 11 inches wide. They have long canine teeth whichare used o
(2) and kill their prey. Lions do not chew their food. Small incisors at the front of their mouth are used to grip
the meat (3) their sharp carnasial teeth in the back of their mouth tear it into (4) they can swallew. In the
wild male lions live to around 12 years of age, with females living to around 15 years of age, whereas in (5) they
can live up to 23 years of age.
SubQuestion No : 20
Q20 gelect the most appropriate option for blank (5)
Ans ..
« 1. captivity
X 2. banality
X 3. disaster
X 4. greenery
Question ID : 264330185909
Option 11D : 264330727947
Option 2 ID : 264330727945
Option 3 ID : 264330727946
Option 4 ID : 264330727944
Status : Answered
Chosen Option : 1

Section : Part-D-Hindi
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FT TE e &
W TR TH @ B T 7 (B I &F 3T M6 g2 T

Ans 1. FET
X2 HiSA
X3 FfEe

x4 gorH

Q1 =fafET 9 8, 91 Aweat & 4, 37 BFeT & 90a #f 3 Fives # 2r ov ag ¥ FEw 0w

Chosen Option :

Question ID : 264330189848
Option 1 ID : 264330743021
Option 2 ID : 264330743018
Option 3 ID : 264330743019
Option 4 ID : 264330743020
Status : Not Answered
Chosen Option : --
Q.2 FrafafEa v &, 9% Reedt & @, 37 T8 ReeT & 997 ¢ = gt § Bv v e & @
&
S oy # 9% &
Ans .
X 1. SRl
X 2 Zegray
X 3. TegHAifer
4 =JgRuToT
Question ID : 264330189760
Option 1 ID : 264330742683
Option 2 ID : 264330742684
Option 3 ID : 264330742685
Option 4 ID : 264330742682
Status : Not Answered
Chosen Option : --
Q3 G=ffEg v & 97 Bees F ¥ 37 Reew #1999 7y o Meg e ¥ fre mfr o &
e &l
T A P T4l ganT & T fFET of YR F F B e F 9 F IR e g
Ans X 1. eI
v 2 USI
X 5. HIHE
x4 forgT
Question ID : 264330189543
Option 1 ID : 264330741858
Option 2 ID : 264330741859
Option 3 ID : 264330741861
Option 4 ID : 264330741860
Status : Not Answered

Downloaded From www.exammix.com




Visit - www.exammix.com & Download All Shift CBT Question Papersin Hindi and English

T U vree 1 waigarE §d S|

Hfgar

Ans &1 qﬁ:r
X 2. 3fTR

X3.;\:ﬂ?n
X4.q‘\—yﬂ

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330189468
264330741572
264330741571
264330741573
264330741570
Not Answered

ar w3 7 ¥ w7 g S
& T

A K oy g W & @
v 2 sl U FHONY Fehgl dT &l Toias 38
X s AT T E
x o Tl TAT 3TET FA T @1, WG 3H 3HH

Q5 =l s &, 57 e = s S At o g9t it §) ofy g oo a8

TS U A FET WA @ SwA 3Ew Bl FET 3w FA 7 &, W 3H A FAT gHAT ToAr

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330189853
264330743040
264330743038
264330743041
264330743039
Not Answered

e T
73 g FEh 3o e RT3 (i) |

Ans 1 HEETUT

=
X2
X3 &I
X 4. TEOT

Q.6 Fr=ffET voT &, 9% Wees! & ¥, 37 FFeT & 997 7Y 57 F55F # BT AT = F 95T & F

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330189875
264330743122
264330743124
264330743125
264330743123
Not Answered
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7 Reu T T | Ywifed Wee 1 [wiF WS 31d S|

¥ CIUUH ¥ T BT 9oy
Ans x 1. '5\]
X 2. gAY

X3 FIgIgH
v Rl

Question ID : 264330189135
Option 1 ID : 264330740304
Option 2 ID : 264330740305
Option 3 ID : 264330740302
Option 4 ID : 264330740303
Status : Not Answered

Chosen Option : --

** fau Iy are &1 98 U I B, B 1S 3 B

gfery < AR & YH H SRR &l Uhs o
A gt

X 2 Uphg fera

v HyaY

X4 gferE S AR

Question ID : 264330188995
Option 11D : 264330739772
Option 2 ID : 264330739773
Option 3 ID : 264330739771
Option 4 ID : 264330739770
Status : Not Answered

Chosen Option : --

W v av g F ARdE aee A AT

gH Al F§ § G-I F I & FF I & AT
Ans X 1 Ha

v 2. TeX-Ucx

X3.?‘3FE[

x4.aﬁ;ﬁ-

Question ID : 264330189981
Option 11D : 264330743527
Option 2 ID : 264330743526
Option 3 ID : 264330743529
Option 4 ID : 264330743528
Status : Not Answered

Chosen Option : --
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Q10 ffeafEa we o, By 0 OR et & 9, 39 et o1 90 4 of i3 T8 e & onf &1 9898 =9 9 =g
el

K IR

Question ID : 264330189073
Option 1 ID : 264330740066
Option 2 ID : 264330740069
Option 3 ID : 264330740068
Option 4 ID : 264330740067
Status : Not Answered

Chosen Option : --

QN TrfeRE 9w &, R 70 9r Feet # @, 50 RFes &1 99 #t 5 Re 70 gEEt F g A
HIASS ®T F eUed AT 2

Fq W T

A% o1 rarefteT BT
X2 ggg HAT TEaT
v 5wy g we
X 4. grer S g

Question ID : 264330188283
Option 11D : 264330737026
Option 2 ID : 264330737027
Option 3 ID : 264330737025
Option 4 ID : 264330737024
Status : Not Answered

Chosen Option : --

Q12 Grrefafag 9o &, 91X Reent # &, 37 ey 1 707 ¢ 5 o9 o= F v 88 g amr
T &l
T F FARSA o fBaT ST Tear 9T sesd He @7 off werT #r = TR B

Ans oI Y
xgg;n-%a-
xa.;nﬁ;r
X4 FA

Question ID : 264330189753
Option 1 ID : 264330742660
Option 2 ID : 264330742658
Option 3 ID : 264330742661
Option 4 ID : 264330742659
Status : Not Answered

Chosen Option : --
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Q13 Bl wa & 9 G # 3, 37 ReeT & = &% 3 Rew me % fre g giees w9 amer
rpeT 2T

HOod oA @Al ST W@, A S
Ans TR

X 2 a-ﬁ;rana-

X 3. grgr

X 4 el

Question ID : 264330189752
Option 1 ID : 264330742655
Option 2 ID : 264330742656
Option 3 ID : 264330742654
Option 4 ID : 264330742657
Status : Not Answered

Chosen Option : --

O R e reg & qiaETdt 31 S|

Ans X 1 HH
xgm
X3 gy
& 4 3HEE

Question ID : 264330190077
Option 11D : 264330743891
Option 2 ID : 264330743890
Option 3 ID : 264330743892
Option 4 ID : 264330743893
Status : Not Answered

Chosen Option : --

U o v T # Wi e ¥ v @d a9 79 e
s =il gl ATRe|

Ans x 1. Ena_
K2 o
Ko sy
o 4 =igr

Question ID : 264330188158
Option 11D : 264330736550
Option 2 ID : 264330736551
Option 3 ID : 264330736549
Option 4 ID : 264330736548
Status : Not Answered

Chosen Option : --

Downloaded From www.exammix.com



Visit - www.exammix.com & Download All Shift CBT Question Papers in Hindi and English

Comprehension:

A R T Temer # T e °fF B v ¥, 9% 3geod § WA IR RBeed [T AT §| 3w
AT F CWATES ¢ HY TN et & F wafcawm 30w T Reew T

ST TORERT F & § SUTET TE geie R TR PR % w9 & AT F1 AT F g @&
e farT 9t &1 @ & e g v & FA A aen gI §ad 957 @EN §1 59 O
T F RN F A T o ST ST ¥ g & ORI 9T ¥ WIU-TIY JuUTH, e, sETE,
HETorT, FarsT S w5 o & off 21 W R F @l 29 F o A § a9A S 7 A
=g A B AT T AT o 57 RN F oagr ¥ Foe o €| I o v e W s
R F FEAfE g §1 TR AR T R g e Y awe =g I Bl AE GRET FeeT
STen SAER ¥, 39 & @l e U gy & o e Gei-mel 56 sEN # A §1 §W o &
o AT § R A e gemel of §W R anh F wEe I §) s @ 1 =R
#fr T T §1 Y A S § R e T ciew get st & A9 S @ 3 e & e g W
HOTE B ST F UEF & & F #F A6 8, 1 & 98 #S-A3w oo ade g

SubQuestion No : 16
Q16 g ERT & 23 § sHRT U8 9w B UH OER & w9 T ¥
Ans 1. gerraT

=

X 2. sqTam
X 3. fegrar

4 HeTdl

Question ID : 264330189755
Option 11D : 264330742663
Option 2 ID : 264330742664
Option 3 ID : 264330742662
Option 4 ID : 264330742665
Status : Not Answered

Chosen Option : --

Comprehension:

A R T TemeT # 7T e o R v §, 9w et F @ 9 Reed R o § sw
AT F WA ¢ HR TN et & ¥ wafcaw 3o A fwew

T ORRT F 3 § Ui 93 yoid BT v cgR kv A STaT 81 9T 1 gl T
R faem 9fE &1 a6 & cEr fig ot & #r S arer g wed 99 Er ¥ 5§ SN &+
T ¥ TN F A T o ST ST §| g 7 cOER AT % AIU-TIY ST, ey, HEE,
HEforT, FarEr S w5 ot F o ¥ =8 e I gl 39 & e F ¥ a9 e # oA
Oy A AT T A s AR A T T m e TSe e e
R # AT g &) T AR T R g R m awa mg e g1 9% gRe aed
T SRR &, @%ﬂmﬁﬂ’mw@#ﬂﬁrﬁmmﬁmﬁwmwm%lwmﬁ
o ofET & aut e guRel of 39 R A F dew o §1 sWRw A o mRw
¢fr &gt T §| T AT A § T @R 1 SiER g ast & A o @ 8 E & e 0 W
HeoTs @ g F wd & ¥ # HAwr S g, 9y § a8 Ae-Aedt @ o ades §

SubQuestion No : 17

QA7 g &7 SRR AN F AIY-HY A9, sieender, WA, e, s 39 o ut F o
|

Ans x 1. ﬁ_\%
X2 =T
X ofafda
v 4 gfag

Question ID : 264330189756
Option 1 ID : 264330742668
Option 2 ID : 264330742666
Option 3 ID : 264330742669
Option 4 ID : 264330742667
Status : Not Answered

Chosen Option : --
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Comprehension:

A R T Temer # T e °fF B v ¥, 9% 3geod § WA IR RBeed [T AT §| 3w
AT F CWATES ¢ HY TN et & F wafcawm 30w T Reew T

ST TORERT F & § SUTET TE geie R TR PR % w9 & AT F1 AT F g @&
ER faeT 9fiE &1 @ & e g o & S A aen g §ed 997 N §1 59 O
T F RN F A T o ST ST ¥ g & ORI 9T ¥ WIU-TIY JuUTH, e, sETE,
HEETorT, arsr S8 &5 i & off %1 TH cURE F "l =9 F & Ay § a9A S 7 A
=g A B AT T AT o 57 RN F oagr ¥ Foe o €| I o v e W s
R F FEAfE g §1 TR AR T R g iy Y awe wg R g1 TE GRaT aes
STen SAER ¥, 39 & @l e U gy & o e Gei-mel 56 sEN # A §1 §W o &
W AafFT ¥ A e e ot 3 R O # geo e §1 i e @ = TER
¢fr @gT T 71 T AW A § R @ 1 cER gt at & #Arar S T g1 g6 & e g0 W
HOTE B ST F UEF & & F #F A6 8, 1 & 98 #S-A3w oo ade g

SubQuestion No : 18
Q18 A= &  3=7 gF! F A T AT T 7 IR T a5 F A o E

Ans . STFETH
X 2. eTeTaTeT
X 3. UgH
X 4. Heldled

Question ID : 264330189757
Option 11D : 264330742672
Option 2 ID : 264330742673
Option 3 ID : 264330742671
Option 4 ID : 264330742670
Status : Not Answered

Chosen Option : --

Comprehension:

A R T TIe@eT # 7T e o Rl v §, 9w et F @ 9 Reed R T § sw
TSI F CAAEF Te¢ HY AR Pt F ¥ Felcan seat T Heew 4

T AR & & § sEfRT wE ueie R ve iR F w9 H AT F| AT F g &+
RN g 9fiE ¢ g &1 SRR Rg oF § FAn A S gF §eW 98 AR 3 56 SRR #
T F AN & ATH T & ST ST g1 gt 3 AN HNd o WI-TTY A9, Siener, A,
HTEforT, FaTer 39 w5 &t 7 o %1 =7 e T 39 & W Fae ¥ gAe Hoar
HeT AT B AAS T ST 8 S AR A g W AAA &9 &1 Wi o TF He W IH
=R # FEATT @ §1 TR MR T B e RuN e wed wg e g1 98 g d@ied
arer FAER §, @%ﬂmﬁﬂ’qum#ﬂﬁrﬁmmﬁmﬁwmwm%lwmﬁ
W ufd § T oot el guEel off §w R ol A wow e ¥ sERw g W R
¢fr &gt T §| T AT A § T @R 1 SER g ast & A o @ ) Ee & e 310 W
W=oTE & 9 F I F w9 F 79 A6 8, 7 & a7 A#E-AeT & oo 5§

SubQuestion No : 19
P IRt 3R T R ger R W 96 %g e 2
Ans X1 'q::ﬂ'
K2 gel
v s girar
x 4. qt—r}

Question ID : 264330189758
Option 11D : 264330742676
Option 2 ID : 264330742677
Option 3 ID : 264330742674
Option 4 ID : 264330742675
Status : Not Answered

Chosen Option : --
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Comprehension:

A R T Temer # T e °fF B v ¥, 9% 3geod § WA IR RBeed [T AT §| 3w
AT F CWATES ¢ HY TN et & F wafcawm 30w T Reew T

ST TORERT F & § SUTET TE geie R TR PR % w9 & AT F1 AT F g @&
ER faeT 9 &1 &9 & e g v & S AW e gI T 997 AN §1 59 O
T F RN F A T o ST ST ¥ g & ORI 9T ¥ WIU-TIY JuUTH, e, sETE,
HEETorT, arsr S8 &5 i & off %1 TH cURE F "l =9 F & Ay § a9A S 7 A
=g A B AT T AT o 57 RN F oagr ¥ Foe o €| I o v e W s
TR # FEAfE g §1 TR AR T R oo e = awd wg R g1 TF GRaT aes
STen SAER ¥, 39 & @l e U gy & o e Gei-mel 56 sEN # A §1 §W o &
W AafFT ¥ A e e ot 3 R O # geo e §1 i e @ = TER
¢fr @gT T 71 T AW A § R @ 1 cER gt at & #Arar S T g1 g6 & e g0 W
HOTE B ST F UEF & & F #F A6 8, 1 & 98 #S-A3w oo ade g

SubQuestion No : 20

N T AT @ F OER & Fer mam E
Ans 1. m

X 2. Tt ST

X 3. gqraTeY

X4 ey

Question ID : 264330189759
Option 1 ID : 264330742681
Option 2 ID : 264330742678
Option 3 ID : 264330742679
Option 4 ID : 264330742680
Status : Not Answered

Chosen Option : --
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Constable GD in Central Armed Police Forces CAPFs SSF Rifleman GD in Assam
Rifles Examination 2024

[Roll Number

Candidate Name

\Venue Name

Exam Date 20/02/2024

Exam Time 2:30 PM - 3:30 PM

Subject Constable GD Examination 2024

Section : Part-A-General Intelligence and Reasoning

Q1 Which two numbers should be interchanged to make the given equation correct?
§+7x5+14-3=6
Ans 1. 8and5

X2 3and5

X3 l14and6

X4 8and 7

Question ID : 264330190421
Option 1 ID : 264330745269
Option 2 ID : 264330745267
Option 3 ID : 264330745268
Option 4 ID : 264330745266
Status : Not Answered

Chosen Option : --

Q.2 Select the option that is related to the fifth word in the same way as the fourth word is related to the third word and the
second word is related to the first word.

CABBAGE : VEGETABLE :: CUSTARD : DESSERT = PEACH : 7

Ans X 1. DESSERT
X 2. VEGETABLE
X 3.
¢ 4 FRUIT

Question ID : 264330190411
Option 1 ID : 264330745228
Option 2 ID : 264330745226
Option 3 ID : 264330745229
Option 4 ID : 264330745227
Status : Answered
Chosen Option : 4
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Q.3 In a certain code language, ‘ALLIES’ is coded as ‘REHLKA', What is the code for ‘BALLET’ in that

code language?

Ans 1. SEKLZB
X 2. SDKLZB
X 3. SEKLZC
X 4 SEKZLB

Question ID : 264330187124
Option 11D : 264330732425
Option 2 ID : 264330732424
Option 3 ID : 264330732427
Option 4 ID : 264330732426
Status : Answered
Chosen Option : 3

Q4 1n the following question. select the missing number from the given series.

14, 6.5.6.5,12.7
Ans X120

X2 17

« 3. 20

K4 25

Question ID : 264330187411
Option 11D : 264330733573
Option 2 ID : 264330733575
Option 3 ID : 264330733572
Option 4 ID : 264330733574
Status : Not Answered

Chosen Option : --

Q.5 Inacertain code language, if AMRITSAR is coded as MAIRSTRA. DURGAPUR is coded as UDGRPARU, then what
will SHILLONG be coded as?

Ans X 1. GNLIOLSH
X 2. NGLOILSH
+ 5. HSLIOLGN
A 4 HSLOILGN

Question ID : 264330192314
Option 1 1D : 264330752612
Option 2 ID : 264330752613
Option 3 ID : 264330752610
Option 4 1D : 264330752611
Status : Answered
Chosen Option : 3
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Q.6  In the following question. select the related letters from the given alternatives.

PTX:RVZ: CGK:?
Ans 5 1. VW

X 2. MNL

X3 ABC

« 4 EIM

Question ID : 264330190150
Option 11D : 264330744183
Option 2 ID : 264330744182
Option 3 ID : 264330744185
Option 4 ID : 264330744184
Status : Answered
Chosen Option : 4

Q.7  Afier interchanging the given two signs what will be the values of equation (I) and (II) respectively?
% and +
LIS+3_4%247
ILIB»3+6-8+4
Ans X 1. 40 and 80
X 2. 16 and 30
X3 9and7
4 59 and 32

Question ID : 264330191341
Option 11D : 264330748719
Option 2 ID : 264330748721
Option 3 ID : 264330748720
Option 4 ID : 264330748718
Status : Answered
Chosen Option : 4
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P

L/

i

V
ki

EIE

Q.8 Which answer figure will complete the pattern in the question figure? (rotation is not allowed)

Chosen Option

Question ID : 264330187458
Option 11D : 264330733761
Option 2 ID : 264330733763
Option 3 ID : 264330733760
Option 4 ID : 264330733762
Status : Answered
Chosen Option : 2
Q9 |n the following question, select the missing number from the given series.
55, 165, 495, 1485, 7, 13365
Ans 1. 4455
X 2. 5055
X 3. 6000
X 4. 7055
Question ID : 264330191539
Option 1 ID : 264330749510
Option 2 ID : 264330749511
Option 3 ID : 264330749512
Option 4 ID : 264330749513
Status : Answered

1
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Q.10 Which of the following groups of letters when sequentially placed from left to right will complete the given series?
opq stoparstogrstopagrs opqr t
Ans x 1. ['ptp
X< 2. opqr
3. Ipts
X 4. qQpqr

Question ID : 264330187400
Option 1 1D : 264330733531
Option 2 ID : 264330733530
Option 3 ID : 264330733529
Option 4 ID : 264330733528
Status : Answered
Chosen Option : 3

Q.11  Select the correct mirror image of the given figure when the mirror PQ is placed to the right side of the figure.

P
C,).
Ans
o 1. .(_< \
X 3. Q

Question ID : 264330192266
Option 11D : 264330752421
Option 2 ID : 264330752419
Option 3 ID : 264330752420
Option 4 ID : 264330752418
Status : Answered
Chosen Option : 1
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Q.12  After arranging the given words according to dictionary order. which word will come at *Fourth’ position?
1. Wheel
2. Wheat
3. Whale
4. Whet
5. When
Ans X 1. Wheat
+ 2. When
X 3. Whet
X 4 Wheel

Question ID : 264330191550
Option 11D : 264330749555
Option 2 ID : 264330749556
Option 3 ID : 264330749554
Option 4 ID : 264330749557
Status : Answered
Chosen Option : 2

Q13 'p x Q' means 'P is the father of Q'
'P + Q' means 'P is the brother of Q'
P+ Q' means 'P is the son of Q'
'P - Q' means 'P is the husband of Q'
How is O related to L in the expression 'O + N+ M -L?

Ans X 1. Father
« 2. Son
X 3. Brother
X 4. Husband

Question ID : 264330192315
Option 1 1D : 264330752617
Option 2 ID : 264330752615
Option 3 ID : 264330752614
Option 4 ID : 264330752616
Status : Answered
Chosen Option : 2
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Q.14 gelect the figure that will replace the question mark (?) in the following figure series.

NESII=GIE

Ans

1.

O
Jia
O
a

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330192083
264330751688
264330751687
264330751686
264330751689
Answered

1

Q.15 Which of the following letter-number cluster will replace the question mark (?) in the given series?
UDF6, VFI9, ?, XJO15, YLRIS, ZNLI2|

Ans X 1. VGKI11
¥ 2 WHLI12
X 3. WIKI11
X4 XHLI12

Option 1 ID

Option 3 ID

Status

Question ID :

264330188039

1264330736087
Option 21D :

264330736084

1264330736086
Option 4 ID :

264330736085

: Answered
Chosen Option :

2
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Q.16 From the given option figures, select the cne in which the question figure is hidden/embedded. (rotation is NOT
allowed)
Sl
Ans
<1
x 2.
X 3.
L
NN
v l '
Question ID : 264330190244
Option 1 ID : 264330744559
Option 2 ID : 264330744558
Option 3 ID : 264330744560
Option 4 ID : 264330744561
Status : Answered
Chosen Option : 4
Q.17 Five friends London. Madrid, Paris, Rome, and Vienna are arranged in a eircle facing the center, Madrid is to the
immediate left of Pariz. Rome iz exactly between London and Vienna. Vienna is to the immediate right of Paris. Which
fiiend is to the immediare left of Madrid?
Ans X 1. Paris
X 2. Rome
X 3. Vienna
+ 4 London
Question ID : 264330192137
Option 1 ID : 264330751903
Option 2 ID : 264330751902
Option 3 ID : 264330751905
Option 4 ID : 264330751904
Status : Answered
Chosen Option : 4
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. the oW1ing “eSthﬂ,_ select t LEre which can aced at the s12n o 1esfion mar'[,- 'om the grven
Q.18 In the following question, select the figure which can be placed at the sign of questi i (7) from the gi

6 12] [18 )
78 | [72 60 | [22 !
30
18
30
X 2.
24
24
X 3.
30
30
~ 4.
18

Question ID : 264330187075
Option 1 ID : 264330732229
Option 2 ID : 264330732228
Option 3 ID : 264330732230
Option 4 ID : 264330732231
Status : Answered
Chosen Option : 1
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Q.19 Three Statements are given followed by two conclusions numbered I and IT. Assuming the statements 1o be tue, even if
they seem to be at variance with commonly kmown facts, decide which of the conclusions logically followy(s) from the
statements.

Statement It All pens are stationery items.
Statement II: Some stationery items are rubbers.
Statement TTT: All markers are pens.

Conclusion I: Some stationery items are not rubbers,
Conclusion - Some markers are not stationery items.

Ans 7 1. Weither conclusion I nor II follows

X 2. Only conclusion II follows

& 3. Both conclusions I and II follow
X 4. Only conclusion T follows

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330192118
264330751829
264330751827
264330751828
264330751826
Not Answered

Q.20 Five friends Pooja. Bhawna, Charu, Geeta and Hema are sitting around a circular table facing towards the centre. Charu
is not the immediare neighbour of Bhawna. Bhawna is second to the left of Hema. Geera is the immediate neighbour of
Bhawna and Hema. Who is sitting to the immediate right of Hema?

Ans X' 1. Geeta

+ 2. Charu
X 3. Pooja
A 4 Bhawna
Question ID : 264330187067
Option 1 1D : 264330732196
Option 2 ID : 264330732198
Option 3 ID : 264330732197
Option 4 ID : 264330732199
Status : Answered
Chosen Option : 2
Section : Part-B-General Knowledge and General awareness
@1 With how many countries does India share a sea border?
Ans 1. 2
X2 4
X3 8
X4 6
Question ID : 264330191275
Option 1 ID : 264330748454
Option 2 ID : 264330748455
Option 3 ID : 264330748457
Option 4 ID : 264330748456
Status : Not Answered
Chosen Option : --
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Q.2 Constitutions limit the power of government in many ways. The most common way of limiting the power of
government is to spaecify certain
to violate.

+ 1. Fundamental Rights

Ans

X 2. Economic Duties

X 3. Directive Principles of State Policy

X 4. Fundamental Duties

that all of us pogaess as citizens and which no government can ever be allowed

Question ID

Option 11D :

Option 2 ID

Option 31D :
Option 4 ID :
Status :

Chosen Option :

1 264330188764
264330738858
1264330738861
264330738860
264330738859
Answered

1

Ans

X 1. 8
X2 2
X310
4.5

@3 How many cities of the host state hosted the National Games 20237

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330191101
264330747759
264330747760
264330747761
264330747758
Not Answered

Q.4  Indian origin
Ans X 1. Rishi Sunak
X 2. Kamala Harris

X 3. Akshata Murty

« 4. Suella Braverman

. was United Kingdom's Home Secretary until November 2023.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330191709
264330750190
264330750193
264330750192
264330750191
Answered

4
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Ans

X 1. Ministry of Education
X 2. Ministry of Science and Technology

X 3. Ministry of Electronics and Information Technology

« 4. Ministry of Tribal Affairs

Q.5 Which Union Ministry announced the launch of the 'Amazon Future Engineer Programme?'

Chosen Option :

Question ID : 264330191888
Option 1 1D : 264330750909
Option 2 ID : 264330750907
Option 3 ID : 264330750908
Option 4 ID : 264330750906
Status : Not Answered
Chosen Option : --
Q6  Ustad Binda Khan is associated with which of the following instruments?
Ans X 1. Flute
« 2. Sarangi
X 3. Shehnai
X 4. Tabla
Question ID : 264330191898
Option 1 ID : 264330750946
Option 2 ID : 264330750949
Option 3 ID : 264330750948
Option 4 ID : 264330750947
Status : Not Answered
Chosen Option : --
Q7 In which unit, noise pollution is measured?
Ans 1. Decibel
X 2. Ohm
X 3. Hertz
X 4. Centimeter
Question ID : 264330191753
Option 1 ID : 264330750367
Option 2 ID : 264330750369
Option 3 ID : 264330750366
Option 4 ID : 264330750368
Status : Answered

1
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Q.8 InAugust 2023, the Cental government has granted a
the longest-serving eabinet secretary in India's history.

Ans X 1. Three-years
X 2. Two-years

X 3. Four-years

extension 1o Cabinet Secretary Rajiv Gauba, making him

« 4. One-year
Question ID : 264330192030
Option 11D : 264330751476
Option 2 ID : 264330751475
Option 3 ID : 264330751477
Option 4 ID : 264330751474
Status : Not Answered
Chosen Option : --
Q.9  Arthe end of which of the following Five-year plans of India, five ITTs were set up in the country?
Ans X 1. Second
+ 2. First
X 3. Fourth
A 4. Third
Question ID : 264330192027
Option 11D : 264330751463
Option 2 ID : 264330751462
Option 3 ID : 264330751465
Option 4 ID : 264330751464
Status : Not Answered
Chosen Option : --
Q.10 The Green Revolution was instrumental in reducing India's dependence on imports of:
Ans X 1. Petroleum
X 2. Textiles
X 3. Machinery
+ 4. Food grains
Question ID : 264330191486
Option 11D : 264330749298
Option 2 ID : 264330749300
Option 3 ID : 264330749301
Option 4 ID : 264330749299
Status : Answered
Chosen Option : 4
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Q.11  "Mysuu Dasara” is a grand celebration in the Indian state of
and a display of decorated elephants.

Ans 1. Karnataka
X 2. Tamil Nadu

. featuring a royal procession, cultural evenrs.

Chosen Option :

X 3. Orissa
X 4. Kerala
Question ID : 264330190951
Option 1 ID : 264330747159
Option 2 ID : 264330747161
Option 3 ID : 264330747160
Option 4 ID : 264330747158
Status : Not Answered
Chosen Option : --
Q.12 Which of the following statement is correct regarding Gautama Buddha?
I Siddhartha, also known as Gautama, the founder of Buddhism, was born about 2500 years ago.
II. The Gautama Buddha belonged to a small gana known as the Sakya gana.
Ans 1. BothIand II
X 2. Neither I nor IT
X3 OnlyII
X 4 OnlyI
Question ID : 264330191055
Option 1 ID : 264330747576
Option 2 ID : 264330747577
Option 3 ID : 264330747575
Option 4 ID : 264330747574
Status : Not Answered
Chosen Option : --
Q13 1 eander Paes is associated with
Ans 1. Lawn Tennis
X 2. Badminton
X 3. Cricket
X 4. Golf
Question ID : 264330191802
Option 1 ID : 264330750562
Option 2 ID : 264330750563
Option 3 ID : 264330750564
Option 4 ID : 264330750565
Status : Not Answered
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Q14 1n which year was the Gandhi-Irwin Pact signed?

Ans X 1. 1941
<2 1921
X3 1911
¥4 1931
Question ID : 264330190836
Option 11D : 264330746701
Option 2 ID : 264330746699
Option 3 ID : 264330746698
Option 4 ID : 264330746700
Status : Not Answered
Chosen Option : --
Q15 YWhere was the International Shooting Sport Federation World Cup 2022 held?
Ans X 1. Munich, Germany
X 2. Sydney, Australia
« 3. Cairo, Egypt
X 4. New Delhi, India
Question ID : 264330191304
Option 1 1D : 264330748570
Option 2 ID : 264330748573
Option 3 ID : 264330748572
Option 4 ID : 264330748571
Status : Not Answered
Chosen Option : --
Q.16 Which of the following statements is correct regarding Depreciation?
1. Depreciation is termed as loss of value of fixed assets due to wear and tear during its useful life.
1I. Depreciation does not take into account unexpected or sudden destruction.
Ans X 1. Neither I nor IT
X 2. Only I
+ 3. Both I and II
X 4 OnlyI
Question ID : 264330188829
Option 1 1D : 264330739121
Option 2 ID : 264330739119
Option 3 ID : 264330739120
Option 4 ID : 264330739118
Status : Answered
Chosen Option : 4

Downloaded From www.exammix.com




Visit - www.exammix.com & Download All Shift CBT Question Papersin Hindi and English

Q17 Which of the following states/Union Territories have the highest male literacy rate
according to Census of India 20117

Ans X 1. Lakshadweep
+ 2. Kerala
X 3. Tripura

X 4. Mizoram

Question ID : 264330188878
Option 1 1D : 264330739317
Option 2 ID : 264330739315
Option 3 ID : 264330739316
Option 4 ID : 264330739314
Status : Answered
Chosen Option : 2

Q.18 is a lively dance form of the Bundelkhand region. Its performance begins with the beating of mridang and
gradually gains momentum dotted with prose and poetic dialogues.
Ans X 1. Rai
« 2. Swang
X 3. Matki
X 4. Gangaur
Question ID : 264330191070
Option 1 ID : 264330747635
Option 2 ID : 264330747634
Option 3 ID : 264330747636
Option 4 ID : 264330747637
Status : Not Answered
Chosen Option : --
Q.19 In Olvmpics table tennis evenr, if the points are tied at 10-10, a player then has to strive for a point lead to win
the game.
Ans X 1, 1
X2 4
X3 3
w4 2
Question ID : 264330191721
Option 1 ID : 264330750238
Option 2 ID : 264330750239
Option 3 ID : 264330750240
Option 4 ID : 264330750241
Status : Not Answered
Chosen Option : --
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Q.20 InAugust 2023, Which of the following former Chief Justice of India was appointed a member of Singapore’s
International Mediator Panel?

X 1. Ranjan Gogol
« 2. NV Ramana
& 3. Sharad Arvind Bobde

Ans

X 4. UU Lalit
Question ID : 264330191739
Option 1 ID : 264330750310
Option 2 ID : 264330750313
Option 3 ID : 264330750311
Option 4 ID : 264330750312
Status : Not Answered
Chosen Option : --
Section : Part-C-Elementary Mathematics
Q.1  Marked price of a chair is Rs. 5000, After giving two successive discounts of 10 percent and x percent, the chair is sold
for Rs. 3150, What is the value of x7
Ans X 1. 40 percent
X 2. 25 percent
X 3. 20 percent
« 4. 30 percent
Question ID : 264330187770
Option 11D : 264330735011
Option 2 ID : 264330735010
Option 3 ID : 264330735009
Option 4 ID : 264330735008
Status : Answered
Chosen Option : 4
Q2 16 (9+4)-13 =14
What is the value of
50— (12 + 12)
Ans 1.1
X2 2
X3 13
X4 26
Question ID : 264330187660
Option 1 ID : 264330734568
Option 2 ID : 264330734569
Option 3 ID : 264330734570
Option 4 ID : 264330734571
Status : Not Answered
Chosen Option : --
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Ans 1. 75 percent
X 2. 45 percent
X 3. 55 percent
X 4. 35 percent

Q.3 1If selling price of a table is 25 percent of its cost price, then what is the loss percentage?

Question ID : 264330187507
Option 1 ID : 264330733957
Option 2 ID : 264330733958
Option 3 ID : 264330733959
Option 4 ID : 264330733956
Status : Answered
Chosen Option : 1
Q.4  The price of a movie ticket was increased by 18%. The increase in ticket price rechiced the nunber of audience by 25%.
What is the effect on revenue?
Ans X 1. decrease by 9.5%
X 2. increase by 10%
X 3. decrease by 14%
« 4. decrease by 11.5%
Question ID : 264330192395
Option 1 ID : 264330752935
Option 2 ID : 264330752937
Option 3 ID : 264330752936
Option 4 ID : 264330752934
Status : Answered
Chosen Option : 4
Q.5 TIfa certain sum of money hecomes thrice of itself in 8 years 6 months at simple interest, then whart will be the annual
rate of interest?
Ans 1. 21.28 percent
X 2. 24.78 percent
« 3. 23.52 percent
X 4. 24.48 percent
Question ID : 264330187753
Option 11D : 264330734941
Option 2 ID : 264330734943
Option 3 ID : 264330734942
Option 4 ID : 264330734940
Status : Answered
Chosen Option : 3
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Q6 IfP:Q:R=09:10: 11, then what is the value of (P + Q) : (Q +R) : (R + P)?

Ans  1.19:21:20
X219:21:19
X3.19:21:23
X419:21:22
Question ID : 264330190100
Option 11D : 264330743984
Option 2 ID : 264330743985
Option 3 ID : 264330743983
Option 4 ID : 264330743982
Status : Answered
Chosen Option : 1
Q.7 If 18 men can finish a work in 13 days. Then in how many days will 54 men finizh the same work?
Ans 1. 13/3 days
X 2. 8/5 days
X 3. 9 days
X 4. 18/4 days
Question ID : 264330192405
Option 1 ID : 264330752975
Option 2 ID : 264330752976
Option 3 ID : 264330752977
Option 4 ID : 264330752974
Status : Answered
Chosen Option : 1
Q.8 A and B can complete a work alone in 20 days and 50 days respectively. Thev began the wouk together but A lefi the
work after some days and B completed the remaining work in 12 days. After how many days from the beginning A left
the work?
Ans 1. 12 days
X 2. 9 days
X 3. 15 days
X 4. 10 days
Question ID : 264330188630
Option 1 ID : 264330738324
Option 2 ID : 264330738322
Option 3 ID : 264330738325
Option 4 ID : 264330738323
Status : Not Answered
Chosen Option : --
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Q.9  Six friends have an average height of 144 cm. A bov with a height of 150 cm leaves the group. Find the new average

height.
Ans X' 1. 108.6 cm
2. 1428 cm
X3 1555¢cm
X 4 160.5 cm
Question ID :
Option 11D :
Option 2 ID
Option 31D :
Option 4 ID
Status :
Chosen Option

264330188084
264330736264

: 264330736267

264330736266

: 264330736265

Answered

12

Q.10 If interest is being compound annually. then what sum will amount to Rs. 9464 in 2 vears at the rate of 30 percent per
annum at compound interest?

Ans X 1. Rs. 6300

X 2. Rs. 5750
« 3. Rs. 5600
X 4. Rs. 5400
Question ID : 264330187174
Option 1 ID : 264330732624
Option 2 ID : 264330732626
Option 3 ID : 264330732627
Option 4 ID : 264330732625
Status : Answered
Chosen Option : 3
QM YWhat is the value of 880 + 41 + 14 x 84 — 267
Ans X 1. 1150
2 1100
& 3. 1000
X 41200
Question ID : 264330191628
Option 1 ID : 264330749866
Option 2 ID : 264330749869
Option 3 ID : 264330749867
Option 4 ID : 264330749868
Status : Not Answered
Chosen Option : --
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Q.12 The difference between cost price and selling price is Rs. 264. If profit percentage is 33 percent, then what is the selling

price?
Ans 1. Rs. 1064
X 2. Rs. 1526
X 3. Rs. 1024
X 4. Rs. 1084
Question ID : 264330187288
Option 1 ID : 264330733083
Option 2 ID : 264330733080
Option 3 ID : 264330733081
Option 4 ID : 264330733082
Status : Answered
Chosen Option : 1
Q.13  Average of 4 numbers is 52. Average of first two numbers is thrice the average of other two numbers. What is the sum
of first two oumbers?
Ans X 1. 148
X2 147
3. 156
X4 174
Question ID : 264330191632
Option 1 ID : 264330749885
Option 2 ID : 264330749883
Option 3 ID : 264330749884
Option 4 ID : 264330749882
Status : Answered
Chosen Option : 3
Q.14  The ratio of copper and zine in brass 15 25 : 12, How much amount of copper will be there in 370 kg of brass?
Ans w1 250kg
X2 150kg
X 3. 350kg
X4 50kg
Question ID : 264330191139
Option 1 ID : 264330747910
Option 2 ID : 264330747912
Option 3 ID : 264330747911
Option 4 ID : 264330747913
Status : Answered
Chosen Option : 1
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Ans X 1. 48 percent

X 2. 52 percent
X 3. 42 percent
o 4. 45 percent

Q.15 Marked price of an article is Rs. 28500 and its selling price is Rs. 15675. What is the discount percentage?

Question ID : 264330187489
Option 1 ID : 264330733885
Option 2 ID : 264330733884
Option 3 ID : 264330733886
Option 4 ID : 264330733887
Status : Answered
Chosen Option : 4
Q.16 1If 25 is subtracted from a mimber, then number becomes 50 percent of itself. What is the numbear?
Ans « 1. 50
X 2. 45
X3 40
X 4 55
Question ID : 264330187625
Option 1 ID : 264330734429
Option 2 ID : 264330734430
Option 3 ID : 264330734431
Option 4 ID : 264330734428
Status : Answered
Chosen Option : 1
Q.17 A person covers first 11 km in 60 minutes and next 22 km in 30 minutes. What is his average speed for the whole
journey?
Ans X 1. 18 km/hr
X 2. 25 km/hr
¢ 3 22 km/hr
X 4 27 km/hr
Question ID : 264330187575
Option 1 ID : 264330734229
Option 2 ID : 264330734228
Option 3 ID : 264330734231
Option 4 ID : 264330734230
Status : Answered
Chosen Option : 3
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Q18 What is the value of [19 » {24 + 4 of (24 x 4+ 16)!]?
Ans X 1. 1

2. 19

X3 76

X 4 38

Question ID :

Option 1 1D

Option 21D :

Option 3 ID

Option 4 ID :
Status :
Chosen Option :

264330191128
1264330747866
264330747867
1264330747869
264330747868
Not Answered

Ans X 1. 21 and 28

Q19 Two numbers are in the ratio of 11: 13. If their HCF is 7, find the numbers.

Chosen Option :

X 2. 63 and 70
« 3 77 and 91
& 4. 70 and 80
Question ID : 264330191650
Option 1 ID : 264330749957
Option 2 ID : 264330749956
Option 3 ID : 264330749954
Option 4 ID : 264330749955
Status : Answered
Chosen Option : 3
Q20 The radius of a sphere is 4.2 cm. What is the volume of the sphere?
Ans
X1 34821 cm?
X 2 284.62 cm®
X3 32032 cm’
¥4 310.46 cm’
Question ID : 264330188611
Option 1 ID : 264330738248
Option 2 ID : 264330738249
Option 3 ID : 264330738247
Option 4 ID : 264330738246
Status : Not Answered

Section : Part-D-English
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Q.1  Fill in the blank with the most appropriate option.

His first movement after the shock
Ans X 1. have been
+ 2. had been

X 3. has being

X 4. was been

to work in his loom: and he went on with this unremittingly.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330186933
264330731850
264330731848
264330731851
264330731849
Not Answered

Q2 Choose the most appropriate antonym of the underlined word.

Ans X 1. dogged
X 2. stubborn
X 3. firm
+ 4. obedient

‘While some people may face legitimate obstacles, others are just obstinate.

Chosen Option :

Question ID : 264330186059
Option 1 ID : 264330728519
Option 2 ID : 264330728516
Option 3 ID : 264330728518
Option 4 ID : 264330728517
Status : Not Answered
Chosen Option : --
Q.3 Choose the most appropriate synonym of the underlined word.
This query is no doubt a very correct and moral one, but it seems somewhat eryptic.
Ans X 1. Common
X 2. Clear
X 3. Obvious
+ 4. Mysterious
Question ID : 264330185784
Option 11D : 264330727469
Option 2 1D : 264330727471
Option 3 ID : 264330727468
Option 4 ID : 264330727470
Status : Not Answered
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Ans 1. We had been collected and
X 2. beetles from 98 different species.
X 3. No error

X 4. studied over 14,000 dung

Q.4 Find the part of the given sentence that has an error in it. Tf there is no error, choose *No error”.

‘We had been collected and studied over 14,000 dung beetles from 98 different species.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330186004
264330728308
264330728310
264330728311
264330728309
Not Answered

Q5 Select the most appropriate word to fill in the blank.

He was dismissed for being combative and antagonistic

Ans X 1. through

his supervisor.

Chosen Option :

X 2. about
+ 3. towards
X 4 above
Question ID : 264330186154
Option 1 D : 264330728880
Option 2 ID : 264330728881
Option 3 ID : 264330728883
Option 4 ID : 264330728882
Status : Not Answered
Chosen Option : --
Q6 Select the most appropriate option for the given blank.
Please my apology for this mistake.
Ans X 1. obtain
« 2. accept
X 3. develop
X 4. acquire
Question ID : 264330185602
Option 1 ID : 264330726779
Option 2 ID : 264330726777
Option 3 ID : 264330726776
Option 4 ID : 264330726778
Status : Not Answered
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Q.7 Choose the idiom/phrase that can substitute the highlighted group of words meaningfully.

She never has to worry about money as she is born into a very rich family.
« 1. Eats like a bird
X 2. Spill the beans

Ans

+ 3. Born with a silver spoon in mouth

X 4. Out of the blue

Question ID : 264330186377
Option 1 ID : 264330729731
Option 2 ID : 264330729729
Option 3 ID : 264330729728
Option 4 ID : 264330729730
Status : Not Answered
Chosen Option : --
Q.8  select the incorrectly spelt word from the given sentence,
The vnivarsity claims students can face a law-suit or tine for violating the UNO smoking prohibition.
Ans X 1. violating
X 2. prohibition
« 3. univarsity
X 4. claims
Question ID : 264330186041
Option 11D : 264330728450
Option 2 ID : 264330728451
Option 3 ID : 264330728448
Option 4 ID : 264330728449
Status : Not Answered
Chosen Option : --
Q.9 Inthe following question. out of the given four alternatives, select the alternative which best expresses the meaning of
the Idiom Phraze.
Under the sun
Ans 1. On earth
X 2. In public
X 3. Under suspicion
X 4. At high risk
Question ID : 264330185787
Option 1 ID : 264330727482
Option 2 ID : 264330727483
Option 3 ID : 264330727480
Option 4 ID : 264330727481
Status : Not Answered
Chosen Option : --
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Q.10 Fill in the blank with the correct homophone:

In the dense forest, a mother

Ans 1. bare

and her cubs roamed freely, enjoving the tranguillity of their natural habitat.

Chosen Option :

X 2. beer
+ 3. bear
X 4 Ber
Question ID : 264330186464
Option 1 1D : 264330730061
Option 2 ID : 264330730062
Option 3 ID : 264330730060
Option 4 ID : 264330730063
Status : Not Answered
Chosen Option : --
Q.11 The sentence has been divided into three parts, identify the error segment in the sentence given below. Choose no error
if there is no error in the sentence.
After a long day at work. he decided to switch of his’ phone, disconnecting from the digital world to immerse himself
in a good book.
Ans 1. After a long day at work, he decided to switch of his
X 2. phone, disconnecting from the digital world
X 3. to immerse himself in a good book.
& 4. no error
Question ID : 264330186402
Option 1 1D : 264330729824
Option 2 ID : 264330729825
Option 3 ID : 264330729826
Option 4 ID : 264330729827
Status : Not Answered
Chosen Option : --
Q12 Select the sentence with no spelling errors.
Ans X 1.
The man walks with a grear deel of poise, in fact, very much like an ephalnt, but he also has the agility of the panther.
X 2.
The man walks with a grate deal of poise. in fact, very much like an elephant. but he also has the agelity of the panther.
X 3.
The man walks with a great deal of poise, in fact, very much like an elephant, but he also has the agility of the panthur.
o 4.
The man walks with a great deal of poise, in fact. very much like an elephant, but he also has the agility of the panther.
Question ID : 264330185769
Option 11D : 264330727413
Option 2 ID : 264330727415
Option 3 ID : 264330727414
Option 4 ID : 264330727412
Status : Not Answered
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Q.13  Find the part of the given sentence that has an error in it. If there is no error, choose *No error’.
This is the most simple and basic component of life.

Ans X 1. simple and basic

X 2. component of life.
+ 3. No error

X 4. This is the most

Question ID : 264330185898
Option 1 ID : 264330727905
Option 2 ID : 264330727906
Option 3 ID : 264330727907
Option 4 ID : 264330727904
Status : Not Answered
Chosen Option : --
Q.14 Seleer the word segment thar substimites (replaces) the brackered word segment correetly and completes the sentence
meaningfully. Select the option 'no correction required' if the sentence is cotrect as given,
Sapna was abstracted, biting her lip restlessly and reading over the guide-books to the battle-field that Suraj (had
bronght along).
Ans X 1. has brought along
X 2. have brought along
X 3. have brought
« 4. No correction required
Question ID : 264330186909
Option 1 ID : 264330731757
Option 2 ID : 264330731756
Option 3 ID : 264330731758
Option 4 ID : 264330731759
Status : Not Answered
Chosen Option : --
Q.15 Improve the underlined part of the sentence. Choose *No impravement’ as an answer if the sentence is grammatically
correct.
Tean't waif to gpie camping next weekend.
Ans 1. go camping
X 2. No improvement
X 3. going camping
X 4. go camps
Question ID : 264330186027
Option 1 1D : 264330728396
Option 2 ID : 264330728399
Option 3 ID : 264330728397
Option 4 ID : 264330728398
Status : Not Answered
Chosen Option : --
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Comprehension:

Read the passage carefully and select the correet answer for the given blanks out of the four alternatives.

The number of measles cases (1) the world increased by 18 per cent during the same period, the report said,
bringing the total number of infections (2), nine million,

Measles, a (3) contagious viral disease, spreads through respiratory droplets (4) by the breath, sneeze or
cough of an infected person. It may result in serious illness or even death. Some 37 countries saw significant or
dismptive measles (5)__ in 2022, compared to 22 nations in 2021.

SubQuestion No : 16

Q16 Select the most appropriate option for blank(1)

Ans X 1. along
' 2. ACross
X 3. for
X 4. through
Question ID : 264330186284
Option 1 ID : 264330729373
Option 2 ID : 264330729372
Option 3 ID : 264330729375
Option 4 ID : 264330729374
Status : Not Answered
Chosen Option : --
Comprehension:

Read the passage carefully and select the correct answer for the given blanks out of the four alternatives.

The number of measles cases (1) the world increased by 18 per cent during the same period, the report said,
bringing the total number of infections (2), nine million,

Measles, a(3)__ cootagious viral disease, spreads through respiratory droplets (4) by the breath, sneeze or
cough of an infected person. It may result in serious illness ar even death. Some 37 countries saw significant or
disruptive measles (5)_ in 2022, comparad to 22 nations in 2021
SubQuestion No : 17
Q17 Select the most appropriate option for blank(2)
Ans 21 to

/X 2. upon

X 3. too

X4 in

Question ID : 264330186285
Option 11D : 264330729377
Option 2 ID : 264330729379
Option 3 ID : 264330729376
Option 4 ID : 264330729378
Status : Not Answered

Chosen Option : --
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Comprehension:

Read the passage carefully and select the correct answer for the given blanks out of the four alternarives.

The number of measles cases (1) the world increased by 18 per cent during the same period, the report said,
bringing the total number of infections (2), nine million,

Measles, a (3) contagious viral disease, spreads through respiratory droplets (4) by the breath, sneeze or
cough of an infected person. It may result in serious illness or even death. Some 37 countries saw significant or
dismptive measles (5)__ in 2022, compared to 22 nations in 2021.

SubQuestion No : 18

Q18 Select the most appropriate option for blank(3)

Ans

X 1. great

+ 2. highly

X 3. partially

# 4 mutant
Question ID : 264330186286
Option 1 ID : 264330729382
Option 2 ID : 264330729383
Option 3 ID : 264330729381
Option 4 ID : 264330729380

Status : Not Answered
Chosen Option : --
Comprehension:

Read the passage carefully and select the correct answer for the given blanks out of the four alternatives.

The number of measles cases (1) the world increased by 18 per cent during the same period, the report said,
bringing the total number of infections (2), nine million,

Measles, a (3) contagious viral disease, spreads through respiratory droplets (4) by the breath, sneeze or
cough of an infected person. It may result in serious illness or even death. Some 37 countries saw significant or
dismptive measles (5)__ in 2022, compared to 22 nations in 202 1.

SubQuestion No : 19
Q19 Select the most appropriate option for blank(4)

Ans X 1. transported

" 2. fransmitted

X 3. transgressed

X 4. transited

Question ID : 264330186287
Option 11D : 264330729385
Option 2 ID : 264330729384
Option 3 ID : 264330729386
Option 4 ID : 264330729387
Status : Not Answered

Chosen Option : --
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Comprehension:

Read the passage carefully and select the correct answer for the given blanks out of the four alternarives.

The number of measles cases (1) the world increased by 18 per cent during the same period, the report said,
bringing the total number of infections (2), nine million,

Measles, a (3) contagious viral disease, spreads through respiratory droplets (4) by the breath, sneeze or
cough of an infected person. It may result in serious illness or even death. Some 37 countries saw significant or
dismptive measles (5)__ in 2022, compared to 22 nations in 2021.

SubQuestion No : 20
Q20 gSelect the most appropriate option for blank(5)
Ans 1. outbreak

X 2. ailment

X 3. break

X 4. pointer

Question ID : 264330186288
Option 1 ID : 264330729389
Option 2 ID : 264330729388
Option 3 ID : 264330729391
Option 4 ID : 264330729390
Status : Not Answered

Chosen Option : --

Section : Part-D-Hindi

Q1 =T go &, 9% Reedt § 4, 37 RBFeT & 797 &1 = 9T T & BT 98 greewe g
Trer fEeed gl
e ¥ o= & T g, o T & 987 AT & g9 F e 5w uar #

Ans X 1. gt
qz.EFﬂET
X3.§FIT

X 4. GoraTT

Question ID : 264330189730
Option 1 1D : 264330742571
Option 2 ID : 264330742572
Option 3 ID : 264330742573
Option 4 ID : 264330742570
Status : Answered
Chosen Option : 2
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Q.2 G=fafag vo &, o7 Reedt § ¥, 39 ReeT & 997 #7 =7 #5ss F BU 17 e F g

T FT WEr T T
m@rmﬁ%ﬁgﬁ;é’rﬂh(ﬁﬂ_g&rm
Ans X o
X 2. ST
X5 mefed
V4 gHEEd
Question ID : 264330189783
Option 1 ID : 264330742771
Option 2 ID : 264330742770
Option 3 ID : 264330742773
Option 4 ID : 264330742772
Status : Answered
Chosen Option : 3
Q3 fGr=fafEe god &, 91 fGeedt & @, 39 oot &7 99w &1 = Frves F By 70 wwg ¥ T a=
FE AT T
T F N EH &ET & wel ¥ (3E9) ST ol W aE W E |
Ans
xR
X2 qd
W 3 Joddd
X4 FTer
Question ID : 264330189764
Option 1 ID : 264330742699
Option 2 ID : 264330742701
Option 3 ID : 264330742698
Option 4 ID : 264330742700
Status : Not Answered
Chosen Option : --
Q4 fgffEd e ¥, 39 deaiw &) Ty ord Amnel O Yo 2 3] ok & mad A R @ Sig R
T & BT g iy
T TR gH T ST & TIgR & g1 A/ e Sies Waiod Gl o 314 HRy 36k &l giel "t
gyl
Ans .
X 1. IR Sfedh UIpfdd Hal & F1 Y AR
X 2. Il UR gH SUIH D T Y @GR I gl AFI
v o R DI glell Wl diet
x4 BT
Question ID : 264330189706
Option 1 ID : 264330742479
Option 2 ID : 264330742478
Option 3 ID : 264330742480
Option 4 ID : 264330742481
Status : Answered
Chosen Option : 3
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S afesw e €, 9 8T 2 2

A X g aftsm wa € AW Twa B ¥
X2 Fr 9ftsT #a g, S %A 29 g
X 5 Sl GRYH $d 8, 98 Yl idl 8|
v S URYH HA ¢, d THaA eid |

Q5 Lo v geT & ST o= F BT TE uwer e BeeT # gue

Question ID
Option 1 ID

Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

1264330189060
1264330740021
264330740020
264330740018
264330740019
Answered

4

 fau T AT 1 97 4T I R, R S Ffe R

fagrT & S S BT I8 Hal BIF & BT |
o gl e

X 2. g Bl

X5 g

v 4 FTE HAl BH

Question ID
Option 1 ID

Option 3 ID

Status

: 264330189962
: 264330743454
Option 21D :

264330743455

1264330743457
Option 4 ID :

264330743456

: Answered
Chosen Option :

1

gl

Hel Al Bl

Ans X 1. R 9@l
X 2. T SdEl

Xs. é@aw
v ¢ gre-faarg g

Q7 fgffaduy Ru 7w IR e # I 37 Geed &1 907 B4 of 2y 10 geray & 24 &1 9diy =0 4 =aa

Question ID :
Option 11D :
Option 2 ID
Option 3 ID
Option 4 ID :
Status

Chosen Option

264330189389
264330741273

1264330741272
1264330741271

264330741270

: Answered
4
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9T T TEr T AET E
Ans X 1. THeIdlaT
v 2 3HEpHT

X3 HATrEITe
X 4 TETA

& 9 # Tl () T WA e g

Q.8 fFr=fafdm ve &, oX Reedt & ¥, 37 ReeT & 997 #7 =7 #r5ss F BU 710 aweg F g

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330189805
264330742855
264330742856
264330742854
264330742857
Not Answered

e 2

Ans 1 HTHRTTE
X2 froe
X 3. B'RT@'}IT

x4.w

HIST FET e T ¥ frmer o A= g afed g

Q.9 fFrfaflg v &, oX fGweat & &, 37 ey &1 797 w1 =7 fog oo & B @fr =g s

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330188374
264330737373
264330737372
264330737374
264330737375
Answered

1

e
A anfife R ET
X 2. ggd ifie SAR g
X3 gg H Uyl
X 4 HFARYS SR AT

Q10 fygfefad uy &, U 70 oR el # ¥, 39 [eed &1 909 &4 off 27 70 g & 214 &1 9dig 0 § =

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330190039
264330743748
264330743747
264330743746
264330743749
Answered

1
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aEI g SgdSS __ S§ T El|
Ans x 1. aEQ_

X2 e
v o 3B

X4 St

M fou 7y 919 B IFd SRR Tes T T9H S Rad ®IF & Ofd Sifog|

Question ID
Option 1 ID

Option 21D :
Option 31D :
Option 4 ID :

Status

Chosen Option :

1264330190043
1 264330743765
264330743764
264330743763
264330743762
: Answered

3

" fau T Geedl ¥ § g o+l ardl fised BT 9u B

Ans

X 1. 2 T BT RS TG Y g 77|
< 2 13 Ui iR S|
X o o IR bl &l 921 -Te! Ter|

X4 [pgal Ul PIE Bl

Question ID
Option 1 ID

Option 3 ID

1264330189453
1264330741517
Option 21D :

264330741515

1264330741516
Option 4 ID :
Status :

Chosen Option :

264330741514
Answered
3

FUT S FT 3ok TT F FROT LA s FEd gl
X1 =aTd
X 2. gl
X3 FErH
¥4 9ag

Ans

OB R AT g F LIRS e #T R e A SIS

Question ID :
Option 11D :
Option 2 ID
Option 31D :
Option 4 ID :
Status :

Chosen Option

264330188239
264330736857

1 264330736859

264330736858
264330736856
Answered

14
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gl &7 & &l

Ane v foreT
X 2. §AT
x3 &

X 4. forere

Q1 B¢ ov I9T F ToEH U FT TUT WS Nad T ﬁq‘ﬁrﬁl

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330188308
264330737121
264330737123
264330737122
264330737120
Answered

1

el Bl S I e ugier )

U fau T g Xdifhd el & o0 S Wea) aTel fGdhed 1 9 i

A X ofadF i emagedr T B
X 2. eyl & ol Bl avg gHdel T
v 3 icdl &I Fl I ale el 14|
X 4. Pfcdl & Pl dI avg gdler ||

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330189165
264330740421
264330740420
264330740418
264330740419
Answered

3
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Comprehension:

7 R v T A Fo v o Ry v § 3N 99w od me & 9X Eed R v §) = A A
T FiT T Fwew wa T #r 9T Fem-

strm ety S e ge mmalm @l (1) @ & 9F @ 39 w=iaAe sk sfeee #r
Tt # 3 (2) Fr o T &, TERRa T B, 3 3 v (3 3 e
g1 B T v afasw T (4) 2T & I @ 3 AT F e it Bwe & e ® e
=T T ¥ T SRE % O & o e % T g sEN §, @aE sfww i, Soem weptie
B___

SubQuestion No : 16

T g & o ged Suge e &1 a9 S
Ans s BRI

X 2 ﬁm

X 3. qﬁm

X 4 %m:[

Question ID : 264330189020
Option 1 ID : 264330739862
Option 2 ID : 264330739863
Option 3 ID : 264330739864
Option 4 ID : 264330739865
Status : Answered
Chosen Option : 1

Comprehension:

#rr f&w 7T TeE & go 9w o1 v v § it vow few ' & 9N Teew e w § sw oA &
T wia @ Rwew fea T & O S

sfomrw el § & S oo # ot a@ef (1) T § I a1 FOw EeEe AT sfeee &
AT I (2) F off FrEraT §, FERE WA 8, 3w SH% o (3) e war
F1 B ST @ af s gt (4) T & S @ 3 AT & et st fwe % e ¥ wee
=T T &1 N ARE & 9 o 7 # F BT 3 HEW §, T s P, SaeT mesas
B____ 7l

SubQuestion No : 17

Y g2 & fow e Suged e &1 9a9 S
A 1 ol

X2 gl

v 3 gigl

X4 94

Question ID : 264330189021
Option 11D : 264330739866
Option 2 ID : 264330739869
Option 3 ID : 264330739868
Option 4 ID : 264330739867
Status : Answered
Chosen Option : 3
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Comprehension:

7 R v T A Fo v o Ry v § 3N 99w od me & 9X Eed R v §) = A A
T T W FweT g v #r 9T ST

strm ety S e ge mmalm @l (1) @ & 9F @ 39 w=iaAe sk sfeee #r
Tt # 3 (2) Fr o T &, TERRa T B, 3 3 v (3 3 e
g1 B T v afasw T (4) 2T & I @ 3 AT F e it Bwe & e ® e
=T T ¥ T SRE % O & o e % T g sEN §, @aE sfww i, Soem weptie
B___

SubQuestion No : 18

" ez & o e Suge e &1 909 Fifvu
Ans x 1. m

v 2 fTHae

X3 gHy

X 4 3,|—:|$

Question ID

Option 2 ID

Option 4 ID

Chosen Option

1264330189022
Option 11D :

264330739870

: 264330739871
Option 3 ID :

264330739872

1264330739873
Status :
12

Answered

Comprehension:

#rr R v T A Fo weE o Ry v § 3N 99w ed me & 9) Eed R v §) = A A
¥ FiF W Fwew T T #r 9T Fem-

sfomre el § & =i oo 7 st a@afr (1) T & I @ 3O FiEEe At st dr
RERTET F IR (2) Fr off RrETT ¥, SEERT #UTT &, 3o 5OS @ (3) §fg &
21 e TS @ afasT a0 (4) BT & 9 @ HU T ¥ FepE HR vwa ¥ e @ e
5T T 31 RN AT & 9 o 7 # § BT 3y 6EW §, O see P, SaeT meEas
(5___ %I

SubQuestion No : 19

" s & fow geQ Suged e &1 907 i
Ans x 1. ]:”@:[

v Iwad

X3 T

URREGIERET

Option 1 ID

Option 3 ID

Status

Question ID :

264330189023

: 264330739876
Option 21D :

264330739877

: 264330739875
Option 4 ID :

264330739874

: Answered
Chosen Option :

2
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Comprehension:

7 R v T A Fo v o Ry v § 3N 99w od me & 9X Eed R v §) = A A
¥ FiF " Fwew T T #r 9fF Fem-

srm ety e re mmalm @l (1) @ & A9 O 39 E=iAe il sfeee #r
TR s (2) = o T ¥, TERNE S 8, 308 30 e (3 ¥R aar
g1 B T v afasw T (4) 2T & I @ 3 AT F e it Bwe & e ® e
5T T ¥ RN ARE & 9 o T # § BT 3y HEN §, T e P, SaeT meas
B___

SubQuestion No : 20
2 s & fow g Suge e &1 907 i
Ans  x 1 GHEH

X 2 a’?fﬁfﬁ

V3 fared

AR CEERI

Question ID : 264330189024
Option 1 ID : 264330739879
Option 2 ID : 264330739881
Option 3 ID : 264330739878
Option 4 ID : 264330739880
Status : Answered
Chosen Option : 3
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Constable GD in Central Armed Police Forces CAPFs SSF Rifleman GD in Assam
Rifles Examination 2024

[Roll Number

Candidate Name

\Venue Name

Exam Date 20/02/2024

Exam Time 5:00 PM - 6:00 PM

Subject Constable GD Examination 2024

Section : Part-A-General Intelligence and Reasoning

Q1 In the following question, select the related letters from the given alternatives.

KBZ :HYW  VIF : ?
Ans X 1. NOP

X 2. SHM

X 3. HVA

« 4 SFC

Question ID : 264330190190
Option 1 ID : 264330744344
Option 2 ID : 264330744343
Option 3 ID : 264330744342
Option 4 ID : 264330744345
Status : Answered
Chosen Option : 4

Q.2 By interchanging which two signs and two numbers (not digits) the equation will be correct?
§+6x4-3+1=2
Ans X 1. % and +, 8 and 3
2 +and— 6and3
X 3.
X4 +and+, 1 and 8

Question ID : 264330187452
Option 11D : 264330733736
Option 2 ID : 264330733738
Option 3 ID : 264330733739
Option 4 ID : 264330733737
Status : Answered
Chosen Option : 2
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Q.3 Inacertain code language, ‘BEHALF is coded as “DCTYND'. What is the code for ‘CLINIC" in that code language?
Ans 1. EIKILKA

X2 EJLLLA

X 3. EJKLLB

X 4. EJKLKB

Question ID : 264330187044
Option 1 ID : 264330732106
Option 2 ID : 264330732105
Option 3 ID : 264330732104
Option 4 ID : 264330732107
Status : Answered
Chosen Option : 1

Q.4 Inacertain code language. ‘MATURE' is coded as *82°, “HIGHER. is coded as *59°. What is the code for *ASIAN’ in
that code langnage?

Ans X 1. 44
X2 42
X3 46
¥4 48

Question ID : 264330190213
Option 1 ID : 264330744437
Option 2 ID : 264330744436
Option 3 ID : 264330744434
Option 4 ID : 264330744435
Status : Answered
Chosen Option : 4

Q5 1n the following question. select the missing number from the given series.

86, 107,82, 111, 78, 115,
Ans 1. 74

K2 72

K3 78

X4 76

Question ID : 264330190159
Option 1 1D : 264330744221
Option 2 ID : 264330744220
Option 3 ID : 264330744219
Option 4 ID : 264330744218
Status : Answered
Chosen Option : 1
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Q.6 Inthe following question helow are given some statements followed by some conclisions basad on those stataments.
Taking the given statements to be time even if they seem to be at variance from commonly known facts. Read all the
conclusions and then decide which of the given conclusion(s) logically follows the given statements.

Statements:

I Some namkeen are pizza.
TI. Mo pizza is biscuit.
Conclusions:

L. No biscuit is namkeen.
I Mo biscuit is pizza.

M. Some pizza are not biscuit.

Ans X 1. Both conclusions I and III follows

+ 2. Both conclusions II and IIT follows

X 3. Only conclusion IIT follows

& 4. All conclusion follows

Question ID : 264330187349
Option 1 ID : 264330733325
Option 2 ID : 264330733326
Option 3 ID : 264330733324
Option 4 ID : 264330733327
Status : Answered
Chosen Option : 2

Q.7 From the given option figures, select the one in which the question figure is hidden/embedded, (rotation is not allowed)

e

Ans

Question ID : 264330187377
Option 1 ID : 264330733437
Option 2 ID : 264330733436
Option 3 ID : 264330733438
Option 4 ID : 264330733439
Status : Answered
Chosen Option : 2
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Q.8  Which two numbers should be interchanged to make the given equation correct?
5-3=0+1=2

Ans X' 1. 5and2
X2 5and3
X3 land3
4 2and 0

Question ID : 264330192322
Option 1 1D : 264330752644
Option 2 ID : 264330752642
Option 3 ID : 264330752645
Option 4 ID : 264330752643
Status : Answered
Chosen Option : 2

Q.9  Which answer figure will complete the pattern in the question figure? (rotation is not allowed)

\/
MVaiVa
j\

Ans

o 1.

™\
N A [ é> /|7> "

PN

X 4.

U\

Question ID : 264330191365
Option 11D : 264330748817
Option 2 ID : 264330748814
Option 3 ID : 264330748816
Option 4 ID : 264330748815
Status : Answered
Chosen Option : 1
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Q.10 Five friends Pooja. Bhawna, Charu, Geeta and Hema are sitting around a circular table facing towards the centre. Charu
is not the neighbour of Bhawna. Bhawna is second to the left of Hema. Geeta is the neighbour of Bhawna and Hema.
Who is sitting to the immediate right of Bhawna?

Ans X 1. Pooja
& 2. Charu
« 3. (Geeta
X 4. Hema

Question ID : 264330187047
Option 11D : 264330732116
Option 2 ID : 264330732119
Option 3 ID : 264330732117
Option 4 ID : 264330732118
Status : Answered
Chosen Option : 3

Q.11 Select the figure that will replace the question mark (?) in the following figure series.

Ans

3

X 4.

Question ID : 264330192204
Option 1 1D : 264330752171
Option 2 ID : 264330752172
Option 3 ID : 264330752173
Option 4 ID : 264330752170
Status : Answered
Chosen Option : 3
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Q12 A paper is folded and cut as shown below. How will it appear when unfolded?

A | =
--F-- | |
1 [ |
b L k,
Ans
1 MO
x 1
1 M O
] (=
o 2.
] (-
(-
x 3
-
| (-
X 4

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330191607
264330749784
264330749785
264330749782
264330749783
Answered

2

Q.13 A series iz given with one rerm missing. Seleer the correct alternative from the given ones that will complere the series.
MG, SO, QU. W5_ 7
Ans X' 1 XT
X2 UX
¢ 3 UY
X 4 MH

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330191388
264330748906
264330748907
264330748908
264330748909
Answered

3
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Q.14 Afier arranging the given words according to dictionarv order, which word will come at *Third’ position?
1. Small
2. Smart
3. Smack
4. Smash

5. Smatter

Ans X 1. Small
X 2. Smack
A 3. Smash
& 4. Smart

Question ID : 264330187421
Option 11D : 264330733612
Option 2 ID : 264330733613
Option 3 ID : 264330733615
Option 4 ID : 264330733614
Status : Answered
Chosen Option : 4

Q15 'Qx R' means 'Q is the wife of R’

'Q + R' means 'Q is the husband of R

'Q + R' means 'Q is the daughter of R

'Q - R' means 'Q is the brother of R

How is V related to T in the expression'S - T+ U+ V'?
Ans X 1. Sister

X 2. Daughter

X 3. Wife

+ 4 Mother

Question ID : 264330190714
Option 11D : 264330746286
Option 2 ID : 264330746289
Option 3 ID : 264330746287
Option 4 ID : 264330746288
Status : Answered
Chosen Option : 4
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B

/\

S

Ans

2

ollellela

Q.16 Select the figure that will replace the question mark (?) in the following figure series.

Chosen Option :

Question ID : 264330192263
Option 1 ID : 264330752406
Option 2 ID : 264330752408
Option 3 ID : 264330752409
Option 4 ID : 264330752407
Status : Answered
Chosen Option : 2
Q17 Tn the following question. select the missing number from the given series.
6075. 2025, 7,225, 75
Ans 1. 675
X 2690
«< 3700
K 4 680
Question ID : 264330187350
Option 1 D : 264330733328
Option 2 ID : 264330733331
Option 3 ID : 264330733330
Option 4 ID : 264330733329
Status : Answered

1
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Sunil. Who is sitting second to the left of Koyal?

Q.18 Eight athletes Sunil. Abhishek, Mohit. Cheenu, Rahul. Tanu. Koval and Anlit are sitting around a circular table facing
opposite to the centre (not necessarily in the same order). Koval is third o the left of Rahul. Tanu is third to the right of
Cheenu. Mohit is second to the right of Sunil. Abhishek is second to the left of Cheenu. Tanu is second to the left of

Ans X 1. Rahul
+ 2. Mobhit
A 3. Sunil
X 4. Tanu
Question ID : 264330190456
Option 1 ID : 264330745409
Option 2 ID : 264330745406
Option 3 ID : 264330745408
Option 4 ID : 264330745407
Status : Answered
Chosen Option : 4
Q19 1p the following question, select the related letter pair from the given alternatives.
RPD:WUIL::?
Ans X 1. LDK : CFK
+ 2 XYM : CDR
X3 XOL:UPL
X4 BAC:OTT
Question ID : 264330187443
Option 1 1D : 264330733700
Option 2 1D : 264330733701
Option 3 ID : 264330733703
Option 4 ID : 264330733702
Status : Answered
Chosen Option : 2
Q.20 Which of the following letter cluster will replace the blank () in the given series?
PRQ. QSR, , SUL TVU
Ans X 1. RST
X 2. RUS
« 3. RIS
X 4 QTS
Question ID : 264330192249
Option 1 ID : 264330752350
Option 2 ID : 264330752353
Option 3 ID : 264330752351
Option 4 ID : 264330752352
Status : Answered
Chosen Option : 4

Section : Part-B-General Knowledge and General awareness
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Ans X 1. M. Gauravi Reddy

X 2. Rekha Sharma
& 3. Madhabi Puri Buch
« 4. Joyeeta Gupta

Q.1 TnJune 2023, who has been awarded the Spinoza Prize, which is also sometimes referred to as the *Dutch Nobel Prize™?

Chosen Option :

Question ID : 264330188853
Option 1 ID : 264330739215
Option 2 ID : 264330739216
Option 3 ID : 264330739217
Option 4 ID : 264330739214
Status : Answered
Chosen Option : 2
Q2 wWhich religion has the majority population in India?
Ans X 1. Christianity
X 2. Jainism
X 3. Islam
+ 4 Hinduism
Question ID : 264330191974
Option 1 ID : 264330751252
Option 2 ID : 264330751253
Option 3 ID : 264330751251
Option 4 ID : 264330751250
Status : Answered
Chosen Option : 4
Q3 Which of the following is the least populous state of India as per 2011 census?
Ans 1 sikkim
X 2. Assam
X 3. Goa
X 4. Meghalaya
Question ID : 264330188874
Option 11D : 264330739299
Option 2 ID : 264330739298
Option 3 ID : 264330739300
Option 4 ID : 264330739301
Status : Answered

1
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Q4 Which country will host the 2026 Asian games?

Ans X 1. Qatar
X 2. Thailand
A 3. China
« 4. Japan

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330190581
264330745907
264330745906
264330745909
264330745908
Answered

4

Q.5 The Green Revolution started in the vear 1965 and the five year plan was between 1961-1966.

Ans X' 1 1st
X 2. 2nd
+ 3. 3rd
X 4. 5th
Question ID : 264330191747
Option 1 ID : 264330750342
Option 2 ID : 264330750343
Option 3 ID : 264330750344
Option 4 ID : 264330750345
Status : Answered
Chosen Option : 3
Q.6

What is the time period of the Eleventh five-year plan in India?
Ans 1. 2010 -2015
X 2. 2008 -2013
w3 2007 - 2012
X 42009 -2014

Question ID : 264330188670
Option 1 1D : 264330738482
Option 2 ID : 264330738484
Option 3 ID : 264330738483
Option 4 ID : 264330738485
Status : Answered
Chosen Option : 3
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Q.7 When the office of Chairman of the Council of States is vacant, then his or her duties shall be performed by which of

the following?

Ans s 1. Deputy Chairman of the Council of States

& 2. President of India
& 3. Senior most member of the Council of States
X 4. Speaker of the House of the People

Question ID : 264330190800
Option 1 ID : 264330746555
Option 2 ID : 264330746556
Option 3 ID : 264330746554
Option 4 ID : 264330746557
Status : Answered
Chosen Option : 1
Q.8 Which Indian dancer won the Sangeet Natak Akademi Award in 2018 for Chhau Dance?
Ans X 1. Akham Lakshmi Devi
X 2. Gopika Varma
+ 3. Tapan Kumar Pattanayak
X 4. Dr. Aruna Mohanty
Question ID : 264330188883
Option 11D : 264330739337
Option 2 ID : 264330739336
Option 3 ID : 264330739334
Option 4 ID : 264330739335
Status : Answered
Chosen Option : 3
Q.9  Which of the following Mauryan inscriptions is NOT located in present-day India?
Ans X 1. Kalsi
+ 2. Kandahar
X 3. Maski
X 4. Girnar
Question ID : 264330188840
Option 11D : 264330739165
Option 2 ID : 264330739163
Option 3 ID : 264330739162
Option 4 ID : 264330739164
Status : Answered
Chosen Option : 2
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Q.10 The "Hornbill Festival" features which indigenous tribes showcasing their culture and traditions?

Ans X' 1 Garo

X 2. Bhil

« 3. Naga

X 4. Gond
Question ID : 264330191472
Option 1 ID : 264330749244
Option 2 ID : 264330749242
Option 3 ID : 264330749245
Option 4 ID : 264330749243

Status : Answered
Chosen Option : 3
Q.11 In 1866, Tohn Newlands. an English scientist, arranged the then known elements in the order of . It is known

as “Newlands' Law of Octaves’.

Ans X 1. increasing atomic number

X 2. decreasing atomic masses
X 3. decreasing atomic number

« 4. increasing atomic masses

Question ID : 264330190912
Option 1 1D : 264330747004
Option 2 ID : 264330747003
Option 3 ID : 264330747005
Option 4 ID : 264330747002
Status : Answered
Chosen Option : 4

Q.12 Inawy tennis gawe, if both players win three points each in a game (L., score is 40-40), then it's called a

Ans X 1. equal

+ 2. deuce
X 3. back
& 4. rattle

Question ID : 264330191063

Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

264330747607
264330747608
264330747606
264330747609

Status : Answered
Chosen Option : 2
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Q.13 The Jallianwala Bagh massacre, took place in consequence to the protest against the

Ans X 1. Regulating Act
X 2. Government of India Act
+ 3. Rowlatt Act
X 4. Pitt's India Act
Question ID : 264330190896
Option 1 ID : 264330746939
Option 2 ID : 264330746938
Option 3 ID : 264330746941
Option 4 ID : 264330746940
Status : Answered
Chosen Option : 3
Q14 “Mundari® dance is associated with which of the following state?
Ans 1. Jharkhand
X 2. Uttar Pradesh
X 3. Tamil Nadu
X 4. Kerala
Question ID : 264330190790
Option 1 1D : 264330746517
Option 2 ID : 264330746516
Option 3 ID : 264330746515
Option 4 ID : 264330746514
Status : Answered
Chosen Option : 3
Q.15 Which of the parts of the Indian Constitution deals with the Directive Principles of State Policy?
Ans X 1. Part III
X2 PartIl
X 3. Part 1
« 4 Part IV
Question ID : 264330191240
Option 1 ID : 264330748316
Option 2 ID : 264330748315
Option 3 ID : 264330748314
Option 4 ID : 264330748317
Status : Answered
Chosen Option : 4
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Q16 Which sport is the Agha Khan Cup associated with?
Ans X 1. Cricket
X 2. Rugby
X 3. Kabaddi
« 4. Hockey
Question ID : 264330188926
Option 1 ID : 264330739507
Option 2 ID : 264330739508
Option 3 ID : 264330739509
Option 4 ID : 264330739506
Status : Answered
Chosen Option : 4
Q17 Which of the following countries borders India to the north-west?
Ans X 1. Myanmar and Nepal
X 2. China, Bhutan and Nepal
X 3. Bangladesh and Myanmar
« 4. Afghanistan and Pakistan
Question ID : 264330188819
Option 1 ID : 264330739080
Option 2 ID : 264330739079
Option 3 ID : 264330739081
Option 4 ID : 264330739078
Status : Answered
Chosen Option : 2
Q.18 The Ministry of Agriculture and Farmers Welfare has launched a PM-KISAN AT Chatbot in 2023, which will
provide the farmers with a one-stop solution for their grievances related to the PM-KISAN scherne.
Ans X 1. Kisan e-Samadhan
+ 2. Kisan e-Mitra
X 3. Kisan e-Yojna
X 4. Kisan e-Sandesh
Question ID : 264330191708
Option 1 ID : 264330750189
Option 2 ID : 264330750187
Option 3 ID : 264330750188
Option 4 ID : 264330750186
Status : Answered
Chosen Option : 2
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Q19 Banking regulation Act was passed in:

« 1. 1949
X 21999
X 3. 1967
X 41959

Ans

Question ID :

Option 1 ID

Option 3 ID

Status

264330191905

1264330750974
Option 21D :

264330750977

: 264330750976
Option 4 ID :

264330750975

: Answered
Chosen Option :

1

Q20 yhich musical instrument is played by Pt. Ravi Shankar?
Ans 1. Sitar

X 2. Sarangi

X 3. Sarod

X 4. Been

Question ID :

Option 1 1D
Option 2 ID

Option 4 ID

264330190617

: 264330746052
: 264330746053
Option 3 ID :

264330746050

1264330746051
Status :
Chosen Option :

Answered
1

Section : Part-C-Elementary Mathematics

Q1 The radius of a sphere is 3.5 cm. What is the total surface area of the sphere?
A" X1 176 cm?

X2 128 cm?

¥3 154 cm?

X4 196 cm?

Question ID :

Option 1 ID
Option 21D :
Option 3 ID
Option 4 ID :
Status :

Chosen Option :

264330187238

1 264330732882

264330732880

1264330732883

264330732881
Answered
3
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Q.2 The average weight of a class of 22 students is 42 kg. If 2 new students of weight 33 kg and 39 kg are added 1o the
class, then what will be the new average weight of 24 students?

Ans X 1. 39.5kg

X2 43 kg
3 41.5kg
X4 42kg
Question ID : 264330191613
Option 1 ID : 264330749806
Option 2 ID : 264330749807
Option 3 ID : 264330749808
Option 4 ID : 264330749809
Status : Answered
Chosen Option : 3
Q3 What is the value of (48 — (20 — 8)) + (4 x 3)?
Ans X' 1 1
X2 4
X3 2
¥4 3
Question ID : 264330188613
Option 1 ID : 264330738254
Option 2 ID : 264330738257
Option 3 ID : 264330738255
Option 4 ID : 264330738256
Status : Answered
Chosen Option : 4
Q.4 . . B [+ PO IaT H
What is the remainder when 35-7 is divided by 107
Ans 1. 5
X2 0
X34
X4 4
Question ID : 264330187682
Option 1 ID : 264330734656
Option 2 ID : 264330734659
Option 3 ID : 264330734658
Option 4 ID : 264330734657
Status : Answered
Chosen Option : 1
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23 instead of 32. What is the correet average of their score?

Ans X 1. 130.88

Q.5 The average marks of 13 students was 130. But later it was found that the score of one student was wrongly entered as

X2 132.28
+ 3. 130.69
X4 131.72
Question ID : 264330191612
Option 1 ID : 264330749805
Option 2 ID : 264330749803
Option 3 ID : 264330749802
Option 4 ID : 264330749804
Status : Answered
Chosen Option : 3
Q.6 Sonualone can make a table in 125 days while Monu alone can make it in 250 days. Monu started the work and worked
for 75 days. In how many days Somu can finish the remaining work?
Ans X 1. 135 days
« 2. 87.5 days
X 3. 100 days
X 4. 120 days
Question ID : 264330188569
Option 1 ID : 264330738078
Option 2 ID : 264330738079
Option 3 ID : 264330738081
Option 4 ID : 264330738080
Status : Answered
Chosen Option : 2
Q7 what is the value of 2016 +4 + 32 x 6 — 26 * 37
Ans X' 1. 626
X2 628
3. 018
X 4 624
Question ID : 264330187919
Option 11D : 264330735606
Option 2 ID : 264330735607
Option 3 ID : 264330735604
Option 4 ID : 264330735605
Status : Answered
Chosen Option : 3
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Q8 g aeg &1 Sifthd Hrd 11800 TUT 3R SUST {354 Hedl 7788 BT &1 9% TR @ Wiawd e &7

Ans
X1 35 gfa=ra
X 3. 30 gfc=Id
X4 32 gfa=ia
Question ID : 264330191137
Option 1 ID : 264330747903
Option 2 ID : 264330747904
Option 3 ID : 264330747905
Option 4 ID : 264330747902
Status : Answered
Chosen Option : 2
Q.9 A certain sum becomes 7 times of ftself in 10 years ar a rate of simple interest. In 20 years it will become how many
times of itself at the same rate of simple interest?
Ans X' 1. |4
X210
X3 12
¥4 13
Question ID : 264330187493
Option 11D : 264330733902
Option 2 ID : 264330733903
Option 3 ID : 264330733901
Option 4 ID : 264330733900
Status : Answered
Chosen Option : 4
Q.10 The marked price of a chair is 20 percent more than its cost price. If the chair is sold for Rs. 220 after a discount of Rs.
20, then what will be the profit pereentage?
Ans 1. 10 percent
& 2. 30 percent
& 3. 20 percent
& 4. 15 percent
Question ID : 264330187250
Option 11D : 264330732928
Option 2 ID : 264330732931
Option 3 ID : 264330732930
Option 4 ID : 264330732929
Status : Answered

Chosen Option :

1
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Q.11  Prithvi has pears and peaches in the ratio of 10:13. Celine has pears and peaches in the ratio of 7:9. Vikram has pears
and peaches in the ratio of 5:7. Who has a greater ratio of pears to peaches?

Ans X 1. Prithvi

+ 2. Celine
X 3. Vikram
X 4. All are equal
Question ID : 264330192480
Option 1 ID : 264330753274
Option 2 ID : 264330753275
Option 3 ID : 264330753276
Option 4 ID : 264330753277
Status : Answered
Chosen Option : 3
Q.12 X1 X2 and X3 can do a work in 90, 45 and 67.5 days respectively. All three of them began the worl
together but X2 left 13.5 days before the completion of the work. In how many days was the wark
completed?
Ans
X 1. 25 days
X 2. 18 days
X 3. 24 days
« 4 27 days
Question ID : 264330187897
Option 1 ID : 264330735518
Option 2 ID : 264330735519
Option 3 ID : 264330735517
Option 4 ID : 264330735516
Status : Answered
Chosen Option : 4
Q.13 Vikram scored 32 percent marls in an exam and failed by 15 marks. If he scores 57 percent marks. then
he gets 10 marks more than passing marks. What should be the passing marks for the exam?
Ans X 1. 49
2 47
X3 52
X4 57
Question ID : 264330187886
Option 11D : 264330735475
Option 2 ID : 264330735472
Option 3 ID : 264330735474
Option 4 ID : 264330735473
Status : Answered
Chosen Option : 2
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Ans X 1. 40 km/hr

Q.14 Abus left 60 minures later than the scheduled time bur in order to reach its destination 300 km away in time. it had to
inerease its usual speed by 10 kmvhr, What is the usual speed of the bus?

+ 2. 50 km/hr
X 3. 30 kmv/hr
X 4. 60 km/hr
Question ID : 264330191624
Option 1 ID : 264330749852
Option 2 ID : 264330749851
Option 3 ID : 264330749853
Option 4 ID : 264330749850
Status : Answered
Chosen Option : 2
Q.15 Ankit sells an article at a loss of 10 percent. If he buys it for 30 percent less price and sells it for Rs. 26 less price. then
his profit will be 10 percent. What is the cost price of the article?
Ans X 1. Rs. 250
« 2. Rs. 200
X 3 Rs. 320
X 4. Rs, 300
Question ID : 264330188581
Option 1 ID : 264330738128
Option 2 ID : 264330738126
Option 3 ID : 264330738129
Option 4 ID : 264330738127
Status : Answered
Chosen Option : 2
Q.16 Simple interest and compound interest on a principal at a certain rate of interest for 2 years is Rs. 12800 and Rs. 14400
respectively. What is the principal?
Ans X 1. Rs. 27800
+ 2. Rs. 25600
X 3. Rs. 24400
X 4. Rs. 29900
Question ID : 264330187554
Option 11D : 264330734146
Option 2 ID : 264330734145
Option 3 ID : 264330734144
Option 4 ID : 264330734147
Status : Answered
Chosen Option : 2
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ages (in years).
Ans X 1. 24 years, 40 vears, 56 years
X 2. 18 years, 30 years, 42 years

X 4. 27 years, 45 years, 63 years

« 3. 21 years, 35 years, 49 years

Q.17 The present ages of three people in proportions is 3:5:7. Six vears ago, the sum of their ages was S7. Find their present

Chosen Option :

Question ID : 264330192481
Option 1 ID : 264330753280
Option 2 ID : 264330753278
Option 3 ID : 264330753279
Option 4 ID : 264330753281
Status : Answered
Chosen Option : 3
Q.18 If the price of a dress is reduced from Rs. 800 to Rs. 720, what is the percentage decrease?
Ans X' 1 094
& 2. 10%
X 3. 8%
X 4. g%
Question ID : 264330188498
Option 1 ID : 264330737797
Option 2 ID : 264330737795
Option 3 ID : 264330737794
Option 4 ID : 264330737796
Status : Answered
Chosen Option : 2
Q.19 A man buys 35 mangoes for a rupee. How many mangoes had he sold for a rupee so that there is a loss of 30 percent?
Ans « 1. 50
X2 27
X3 45
X 4 33
Question ID : 264330191616
Option 1 ID : 264330749818
Option 2 ID : 264330749819
Option 3 ID : 264330749821
Option 4 ID : 264330749820
Status : Answered

1

Downloaded From www.exammix.com




Visit - www.exammix.com & Download All Shift CBT Question Papersin Hindi and English

Q20 what is the value of 443 — 226 + 2 % 57

Ans X 1, 127
X2 121
K3 —119
o4 —122
Question ID : 264330188572
Option 1 ID : 264330738093
Option 2 ID : 264330738091
Option 3 ID : 264330738090
Option 4 ID : 264330738092
Status : Answered
Chosen Option : 4
Section : Part-D-English
@1 Choose the word that means the same as the given word.
Fantastically
Ans X 1. Scarcely
X 2. Scantily
X 3. Nominally
+ 4. Fabulously
Question ID : 264330186667
Option 1 ID : 264330730833
Option 2 ID : 264330730832
Option 3 ID : 264330730835
Option 4 ID : 264330730834
Status : Not Answered
Chosen Option : --
Q.2 Inthe following question, out of the given four alternatives, select the alternative which best expresses the meaning of
the 1diom/Phrase,
A stick in the mud
Ans X 1. A person without any fear
X 2. A person with no character
« 3. A person who resists change
x4 Agenerous person
Question ID : 264330186628
Option 1 1D : 264330730685
Option 2 ID : 264330730687
Option 3 ID : 264330730686
Option 4 ID : 264330730684
Status : Not Answered
Chosen Option : --
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@3 Select the most appropriate word to fill in the blank.

They  a mammoth task ahead of them.
Ans X 1. needs

X 2. has

X 3. does

+ 4. have

Question ID :

Option 1 ID

Option 3 ID

Status

264330186239

1264330729207
Option 21D :

264330729205

: 264330729206
Option 4 ID :

264330729204

: Not Answered
Chosen Option :

Q4 Select the sentence with no spelling errors.
Ans X 1.

2.
X 3.

X 4.

We were disillusioned when we saw how the movie star acted in reale life.
We were disillusioned when we saw how the movie star acted in real life.
We were disilusioned when we saw how the movie star acted in real life.

We were disillusioned when we saw how the mouvie star acted in real life.

Chosen Option :

Question ID : 264330185580
Option 1 D : 264330726694
Option 2 ID : 264330726693
Option 3 ID : 264330726692
Option 4 ID : 264330726695
Status : Not Answered
Chosen Option : --
@3 Select the most appropriate option for the given blank.
There is no need to jump to a SO S00N.
Ans X 1. resistance
+ 2. conclusion
X 3. finale
X 4 incision
Question ID : 264330185623
Option 1 D : 264330726857
Option 2 ID : 264330726856
Option 3 ID : 264330726858
Option 4 ID : 264330726859
Status : Not Answered
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Q.6 Choose the most appropriate anfonym of the underlined word.
The cow happily recovered. which the widow entirely atiributed to the efficacy, of her pastor's prayer.
Ans 1. Inadequacy
X 2. Effect
X 3. Virtue
X 4. Potency
Question ID : 264330186648
Option 1 1D : 264330730761
Option 2 ID : 264330730763
Option 3 ID : 264330730760
Option 4 ID : 264330730762
Status : Not Answered
Chosen Option : --
Q.7  Find the part of the given sentence that has an error in it. If there is no error, choose “No error’.
A thousand years ago, boys and girls did not learnt to read.
Ans X 1. A thousand years ago
X 2. boys and girls did
A 3. No error
+ 4 not learnt to read.
Question ID : 264330185561
Option 11D : 264330726620
Option 2 ID : 264330726621
Option 3 ID : 264330726623
Option 4 ID : 264330726622
Status : Not Answered
Chosen Option : --
Q8 Fill in the blank with the most appropriate option.
The horn of the car ahead was by the resistance of the thick air.
Ans 1. muffled
X 2. faint
X 3. dim
X 4 mute
Question ID : 264330186912
Option 1 ID : 264330731768
Option 2 ID : 264330731769
Option 3 ID : 264330731771
Option 4 ID : 264330731770
Status : Not Answered
Chosen Option : --
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Q.9 Choose the idiom/phrase that can substitute the highlighted group of words meaningfully.
The matter was discussed privately without any intruders.

X 1. Through thick and thin

A 2. On the fence

# 3. Run out of steam
+ 4. Behind closed doors

Ans

Option 1 ID

Option 3 ID

Status

Question ID :
Option 2 ID :
Option 4 ID :

Chosen Option :

264330186272
1 264330729329
264330729330
1264330729331
264330729328
: Not Answered

Q.10 Improve the nnderlined part of the sentence. Chaose “No improvement® as an answer if the sentence iz grammatieally
correct.

A large nmumber of people have been zet clean and pure water.

Ans X 1. No improvement

X 2. been gets
X 3. has been got

« 4. have been getting

Option 3 ID

Status
Chosen Option :

Question ID :
Option 11D :
Option 21D :

264330186132
264330728799
264330728798

1 264330728797
Option 4 ID :

264330728796

: Not Answered

Q.11 Find the part of the given sentence that has an error in it. If there is no error, choose “No error’.

I am not the most wisest person here to teach you this lesson.
Ans

A 1. No error
X 2. person here to
X 3. teach you this lesson.

" 4. T am not the most wisest

Question ID :
Option 1 ID
Option 2 ID :
Option 3 ID
Option 4 ID :
Status

Chosen Option :

264330185772

1 264330727427

264330727425

1 264330727426

264330727424

: Not Answered
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Q.12 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No emor®.

Ans X 1. No error
X 2. identify counterfeit logos when the
+ 3. Consumers sometimes has a good ability to

X 4. legitimate brand is well-recognized.

Consumers sometimes has a good ability to identify connterfeit logos when the legitimate brand is well-recognizad.

Chosen Option :

Question ID : 264330186046
Option 1 ID : 264330728471
Option 2 ID : 264330728469
Option 3 ID : 264330728468
Option 4 ID : 264330728470
Status : Not Answered
Chosen Option : --
Q.13 Replace the bracketed word with one of the given options, which suitably replaces the word without changing the
meaning of the sentence:
A sunecessful outcome could ultimately lead to its use in (autonomous) planetary rovers and robot alreraft.
Ans X 1. unanimous
X 2. occlude
+ 3. independent
X 4. obstruct
Question ID : 264330186447
Option 11D : 264330729997
Option 2 ID : 264330729998
Option 3 ID : 264330729999
Option 4 ID : 264330729996
Status : Not Answered
Chosen Option : --
Q.14 The sentence has been divided into three parts, identify the segment which contains a spelling error in the sentence
given below. Choose no eror if there is no error in the sentence.
The seizmic zoning displayed’ that the area had besn prone/ to many earthqualkes.
Ans X 1. that the area had been prone
& 2. no error
+ 3. The seizmic zoning displayed
X 4. to many earthquakes.
Question ID : 264330186462
Option 1 ID : 264330730053
Option 2 ID : 264330730055
Option 3 ID : 264330730052
Option 4 ID : 264330730054
Status : Not Answered
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@15 Select the most appropriate option for the given blank.

Youmust  vour defeat now, as you are left with no soldiers.
Ans 1. admit

X 2. defer

X 3 get

X 4. buy

Question ID : 264330186085
Option 11D : 264330728616
Option 2 ID : 264330728618
Option 3 ID : 264330728617
Option 4 ID : 264330728619

Status : Not Answered

Chosen Option : --
Comprehension:
Read the passage carefilly and select the correct answer for the given blanks our of the four alternatives.
The India Meteorological department (IMD)had (1) a warning regarding a heatwave for March § and 9 for Goa.
The warning stated, “With the strengthening of easterly winds, clear sky (2} and delay in setting time of sea
breeze, the maximum temperature over Gea is likely to retnain 4-6°C (3) than its normal value. Persistence of
these conditions is likely to satisfy the criteria of a heat wave over Goa (4) Thursday™.Many schools in Goa are

conducting exams and have been (5) to advance the timing.
SubQuestion No : 16

Q16 Select the most appropriate option for blank (1)
Ans X 1. produced
X 2. distributed
X 3. mitigated

« 4. issned

Question ID : 264330185632
Option 1 1D : 264330726889
Option 2 ID : 264330726891
Option 3 ID : 264330726890
Option 4 ID : 264330726888
Status : Not Answered

Chosen Option : --

Downloaded From www.exammix.com



Visit - www.exammix.com & Download All Shift CBT Question Papersin Hindi and English

Comprehension:

Read the passage carefully and select the correct answer for the given blanks our of the four altemarives.

The India Meteorological department (IMD)had (1) a warning regarding a heatwave for March 8§ and 9 for Goa.
The warning stated, “With the strengthening of easterly winds, clear sky (2}

and delay in setting time of sea
breeze, the maximum temperature over Gea is likely to retnain 4-6°C (3) than its normal value. Persistence of

these conditions is likely to satisfy the criteria of a heat wave over Goa (4) Thursday™.Many schools in Goa are
conducting exams and have been (5) to advance the timing.

SubQuestion No : 17
Q17 Select the most appropriate option for blank (2)
Ans X' 1. complications

+ 2. conditions
X 3. phases

X 4. adjustments

Question ID : 264330185633
Option 1 ID : 264330726895
Option 2 ID : 264330726893
Option 3 ID : 264330726894
Option 4 ID : 264330726892

Status : Not Answered

Chosen Option : --
Comprehension:
Read the passage carefilly and select the correct answer for the given blanks our of the four alternatives.
The India Meteorological department (IMD)had (1) a warning regarding a heatwave for March § and 9 for Goa.

The warning stated, “With the strengthening of easterly winds, clear sky (2],

and delay in setting time of sea
breeze, the maximum temperature over Gea is likely to retnain 4-6°C (3) than its normal value. Persistence of

these conditions is likely to satisfy the criteria of a heat wave over Goa (4) Thursday™.Many schools in Goa are
conducting exams and have been (5) to advance the timing.

SubQuestion No : 18

Q18 Select the most appropriate option for blank (3)
Ans X 1. Highest

X 2. Highly

« 3. higher

X 4. High

Question ID : 264330185634
Option 11D : 264330726898
Option 2 ID : 264330726896
Option 3 ID : 264330726899
Option 4 ID : 264330726897
Status : Not Answered

Chosen Option : --
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Comprehension:

Read the passage carefilly and select the correct answer for the given blanks our of the four alternarives.

The India Meteorological department (IMD)had (1]___ a warning regarding a heatwave for March 8 and 9 for Goa.
The warning stated, “With the strengthening of easterly winds, clear sky (2)__ and delay in setting time of sea
breeze, the maximum temperature over Gea is likely to retnain 4-6°C (3) than its normal value. Persistence of
these conditions is likely to satisfy the criteria of a heat wave over Goa(4)___ Thursday™.Many schools in Goa are
conducting exams and have been (5)__ to advance the timing.

SubQuestion No : 19
Q19 Select the most appropriate option for blank (4)
Ans X 1. over
X2 at
& 3. 0n
X 4. in

Question ID : 264330185635
Option 11D : 264330726903
Option 2 ID : 264330726901
Option 3 ID : 264330726900
Option 4 ID : 264330726902
Status : Not Answered

Chosen Option : --

Comprehension:

Read the passage carefilly and select the correct answer for the given blanks our of the four alternatives.

The India Meteorological department (IMD)had (1) a warning regarding a heatwave for March 8 and 9 for Goa.
The warning stated, “With the strengthening of easterly winds, clear sky (2)__ and delay in setting time of sea
breeze, the maximum temperature over Gea is likely to retnain 4-6°C (3) than its normal value. Persistence of
these conditions is likely to satisfy the criteria of a heat wave over Goa(4)___ Thursday™.Many schools in Goa are
conducting exams and have been (5)__ to advance the timing.

SubQuestion No : 20

Q20 gSelect the most appropriate option for blank (5)
Ans X 1. asking

X 2 tell

X 3. said

+ 4. told

Question ID : 264330185636
Option 1 ID : 264330726904
Option 2 ID : 264330726905
Option 3 ID : 264330726906
Option 4 ID : 264330726907
Status : Not Answered

Chosen Option : --

Section : Part-D-Hindi
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! fou u gre # WEifd Wsg & 1T g g 3 S
21 S 98 1 o sl

Ans

X1 Iy
v 2. 9y
X3 3"
x4.fQTgf

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

264330189117
264330740237
264330740234
264330740235
264330740236
Answered

Chosen Option : 2

% feu e g § § Td go-l J1d S

T YAl & i Afd & g sae gl @il
Ans 1 SHele

o 2. ;ﬂ:qﬁ

X 3. Hq_ﬁ

X 4. g_nﬁaj’f

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330190084
264330743920
264330743919
264330743921
264330743918
Answered

2

T8 T IR ATEH BT 81 59 2hd 7 S|
Ans x 1. “qga;l-q

X 2 a—ﬂggﬁ'qﬁf%
v 3 TR AGH Bl
X 4 81 5Y 3Hbdl Hd B |

Q3 iy Iy G/ &1 98 HIT I B, R SIS 3R 31 Al BIS FR AT 8, o Big AR A &

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330189164
264330740414
264330740417
264330740415
264330740416
Answered

3
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** feu Ty areg A 3aifed Tse BT fAdH Wsg 91d I
T ST T T U AT B |

X1 R

v TgARel

X3 HER
X 4 g

Ans

Question ID :

Option 1 ID

264330188988

1264330739744
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

264330739743
264330739742
264330739745
Answered

2

el @ el A w & Ry we g
X 1.3
X2 3
3. 3
X4 3h

Ans

Q.5 fgffad uy 8 ar Aol 39, 39 Qe o 997 &3 ol Sige J 2T T Wsg & a8 T &l 4l e g |

Question ID :
Option 11D :
Option 21D :
Option 31D :

Option 4 ID

264330189939
264330743366
264330743367
264330743369

1264330743368
Status :
Chosen Option :

Answered
3

4 feu Ty oy H Ywifhd Yse & fadH Wse Jd BITT|

UiEH HRA M1YHE HiaT d HRIg gl
v 1 gRIfUrd

X2 949

X3 A4

X 4. STl

Ans

Question ID :
Option 11D :

Option 2 ID

Option 4 ID

264330189344
264330741099

1264330741098
Option 31D :

264330741101

1264330741100
Status :
Chosen Option :

Answered
2
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2l

Eroiferd-co

AN o1 e BT
X 2 gfthg AT
X3 A H AT der @
v 4 QireR-TaEaer FT &

Q7 Tl g #, 91 et # @, 57 Rees &1 = w5 o By e geey & '@ a9 aer R

Question ID : 264330188345
Option 1 ID : 264330737263
Option 2 ID : 264330737260
Option 3 ID : 264330737262

Option 4 ID :
Status :
Chosen Option :

264330737261
Answered
4

Q.8 =T vea #, I Feedl § ¥, 30 T8 ey & 70 & o a5y § B v 0w F7 ey

&l
e =g em A g &
Ans X 1. rarer
X 2. FAI=d
3 Fafed
X 4 TS
Question ID : 264330188339
Option 11D : 264330737236
Option 2 ID : 264330737238
Option 3 ID : 264330737237
Option 4 ID : 264330737239
Status : Answered
Chosen Option : 3
Q.9 Fr=fafdT ve &, oX feedt & ¥, 37 RBeeT & 997 7 37 #r5cs # BT 970 weg F T@TEEr
oeg T HE &EeT B
TIE F R F T ¥ (FR) _
Ans
X1 FHH
™,
X 2. ﬁ?ﬂ'
v P
X 4. AR
Question ID : 264330188362
Option 1 ID : 264330737327
Option 2 ID : 264330737325
Option 3 ID : 264330737324
Option 4 ID : 264330737326
Status : Answered
Chosen Option : 3
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75T & T Bl g aar gl

X 1. ggl Y& T &l gy M g
v 2. g1 I &1 Y& ad fAear gl
X 3. gRad &1 HTaaehdl Tel o
X . UgT G Y 1 MY e g

Ans

Q10w arer 7 Waiferd Weal & T 9l Wl arel f[ddhed &1 9 $Y|

Question ID

Option 11D :

Option 2 ID

Option 31D :

Option 4 ID

Status :
Chosen Option :

1 264330189249
264330740739
1264330740740
264330740741
1 264330740738
Answered

2

e T ¥

e Ko dfae

Teper 1 et & faw (Iiege) g =gy, gfemees siher g =feel

Q1 F=fafEg wa &, 97 BFear F ¥, 37 BFeT & 90 7 5 #5se F &Y 70 g & d859 T #;

X2 9gg
X 3 geg
4 qTERIET
Question ID : 264330189560
Option 1 1D : 264330741924
Option 2 ID : 264330741925
Option 3 ID : 264330741923
Option 4 ID : 264330741922
Status : Answered
Chosen Option : 4
Q12 R o g F BT WA a7 9T W R T & O
grar A FT AH & g1
Ans X 1. HTHIGA
X2 g
X3 qifeep
4 SIS
Question ID : 264330189973
Option 11D : 264330743494
Option 2 ID : 264330743495
Option 3 ID : 264330743497
Option 4 ID : 264330743496
Status : Answered
Chosen Option : 4
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A % e faaR H it
X 2 A gAY UGaR & a7 o1 faef
v 3 H gHY AdaR &l fief)
X o B gHY AGaR & & e

A g el 1§ i faiden 2RTE 8, ool U 99 21 99 8 fided & 9 3|

Question ID

Option 11D :
Option 21D :
Option 31D :

Option 4 ID

Status :

Chosen Option

1264330189331
264330741053
264330741051
264330741052
1 264330741050
Answered

03

rreT &1
HISAT AT IR 3T

X 1. e H ofed 2T &

X2 SE @ 9@ F REe F HgER @
X 3.

Ans

v 4 HST N HTA AT & HAN & el Bere §

Q14 TrafafEe v &, 9% BFedr & &, 38 &eeT & 907 &y = & 75 sened # §er 3 arer

ﬂﬂﬁ?ralﬁa'&srﬁ‘qaﬁ 0T eI TS =T AT AT &

Question ID : 264330189746

Chosen Option :

Option 11D : 264330742630
Option 2 ID : 264330742632
Option 3 ID : 264330742631
Option 4 ID : 264330742633
Status : Answered
Chosen Option : 4
Q.15 .
& 70 greER & o ardies Tes 91d Sifom|
o e & e gl
Ans X 1 aﬂﬂ\:ﬂ
X2 3dy
X s gAY
SELIIEES
Question ID : 264330189110
Option 1 ID : 264330740207
Option 2 ID : 264330740206
Option 3 ID : 264330740209
Option 4 ID : 264330740208
Status : Answered

4
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Comprehension:

e o T TR $E T B1S [ U §, TS offwa & 9 9 Aaed U Y B 1 59 TN B aeyds
U3 2R TR faedl 5 9 Halas IR ar fdeed 911

M @1el § 7fe TR & fdl ot &1 § B3 ot uedr ufed g df SUe 2rTel f3H gHR U Sud! WaR 211 ol
BT RFTER S G FRUE BAe A S WA T ER E S e e
HIE] B 21 Ug 91 ugdl il o1aead axg 2, 58wl g g Uad ved cud 8| Tg sl WAy A gl &1
_ H AR A TGRS G0 Y § 98 T gUR) UEE Sl & | SR U i, Jatfa,
HrHIfies Hel, SRISHIRI, Wd, SRS SHEIR, faai, g, sargdl, 2Affeded, ddl, dienl, de-die! o 31
PRI g a1 &1 T8 BAR T IR AR b @l agr & 1 gHRT T #3181 Ugd 5 THa F,
IR AT T hael Werl o1 fGau1 YRl gial uT| STeiifcs, 2fa Sav agd 9 fawal & an 1 @y 3 faivsi o
foaR Tl o o, T wt w351 ST +f Ffea g1 81 950 ¥ THeR T 3 Siad SR o S
T H IR I 8 T UG % SR SeRT-SerT 8l €| THER U a7 SEER 1 e oies #t @i
ToHM HeAN Fafid $0 3 Sl g1

SubQuestion No : 16

G 1 R gAER Ul B BRUE gl

K fawa
X2 gl
v g

X 4 Hidhd

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330189986
264330743545
264330743543
264330743542
264330743544
Answered

3

Comprehension:

2 U T A 76 e 1S S0 U B, YA owe & 9 R e U Y ¥ 39 iy &Y eHdds
U¢ 3R 9R fided & ¥ atad SR a5 fAeed T

g e F i TR & {8 ot SR F o1 o g 9fed g df SUe orTel 37 gUR urh 3uet @ o1 ot
TR AR TS S FRUE gl He s T A R I ER S e e &l
HIE] B 2| Ue 91 ugdl i 3aeadh axg o, 58 wal e e U9t ved Sud 8| Te el WAy A gl 1

_ IR A TSN I@R TOaH 9 U 98 W d AN GG Sl ¢ | SHER U ], Jatto,
WrHfSies Hel, SRISIRI, Wd, S-RATT THREIR, fai, Rigf, sargdl, 2AfFmdaet, Adl, digrl, de-ief ofg o1
STeRRT g a1 §1 718 AR I SIRIG SR Td! Bl agr 1 ¥ gRT T 31 81 754 & T
FHER AT H e WeRl 1 fGaul YehIird gidl Ul gTiifds, ofe S9H 9gd o fawal & an | @ay i fasusi o
foaR ag! o {5, T i ot &1 STeer +f Ffed 1 31 950 9 SRR T 3 Sid SR 7 St
TS SR 3 & H UG & SR S-S 81Ul ¢ | THER U a7 3EeR & 4 oias &t aut
oA TN Fafid 30 3 e gl

SubQuestion No : 17

A7 oo & I H 5 SR U3 % e B S ol BTE BB B

Ans

X IRl
X 2. LGl
X 3. 3o
4 dheldd]
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

264330189987
264330743546
264330743547
264330743549
264330743548
Answered

4
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Comprehension:

= Ta T T A e s B 4 T E, TS Awia & 9 9R [aeed Y Y § | 59 9 S egde
Ug 2R TR fdsedl | 9 Halas IR aw fdeed 311

M S1e H i3 TR & fodl ¥l &1 § B3 it uedr ufed g 9 Sue 2rTel f3H gHR U St War 211 ordl
BT RF TR S G IR BAe S R A T ER E e e Bl &
DB B g1 g 91 gl o 2aead aeg &, 578 Wil g Yo Uad Ugd oud 81 0 ef W fay A gl el
_ H AR TSR SH 900 T § 98 T § gUR) HEE Sl ¢ | SHER U ST, Jaffas,
TS He, SRS, We, SRS SHIER, a9, e, aarsdl, Ao, Je, @ieri, qeiml 201 &1
SRR g e 81 T8 BAR T SR R ae-idb! Bl agr 7 gHRT T #3181 Ued $ THa F,
TR T T Sae WeRl o1 fGavu] YR gial oT| STeiiies, 3d SO 95 o fawal & an 1 Ty 3R foxust &
faaR ugt o &, T ot Rt =51 s +f it i 81 950 9 THeR 9= 3 Siad SR o S
TEE IR 8 T TS % SR SeRT-SerT 8l €| THER U AT SR 3 e oies 5t @i
oA HeAN Fafid $0 3 Sl g1

SubQuestion No : 18
Q18 ppeA QY AE & IR A SR 28R 9aAH THY § S T § AR Heg el 2

Ans X']- Eﬂgﬁ
X 2 GeheaArsff
v 5 gerl
x4.@?ﬁ

Question ID : 264330189988
Option 1 ID : 264330743550
Option 2 ID : 264330743552
Option 3 ID : 264330743551
Option 4 ID : 264330743553
Status : Answered
Chosen Option : 3

Comprehension:

2 U T A 76 e 1S S0 U B, UdE owe & 9 O A U Y ¥ 39 TeiY &t edes
U¢ 3R 9R fided & ¥ atad SR a5 fAeed T

g e F i TR & {5 ot SR F o1 o godr 9fed gl df SUe orTel 37 gUR Uy 3uet @ o1 ordl
TR AR TS S FRUE gl AHE S T A R SRR S e e &l
HIH] B 2| Ue 91 ugdl i 3aeadh axg 2, 58 wal g gue Uad ved Sud 81 Te el WAy A gl &1

_ FIRATESN I@R TOuH 90 U 98 W J AR GG Sl ¢ | SHER U ], Jatto,
rHfSies Hel, SRISIRI, Wd, S-RATY GHEIR, fa, Rigf, sargdl, 2AfEmdaet, Adl, digrl, de-ief o o1
TRRT g e §1 718 TR T IR AR aaid! Bl agr 7 ¥ gRT T X1 81 U5l 5 S
FHEIR AT ¥ e WeRl 1 fGaul YehIird gidl UT| gTiifds, ofe S9H 9gd o fawal & an d @ay i fasvsi &
foaR ol o {5, T et ot &5t STer +f Fifed B 31 950 9 SRR T 3 S id SR 7 St
TR SR 3 &7 B UG & SR S-S 81l ¢ | THER U a7 3EeR & 4 oias &t auit
ToHM TN Fafid 303 s g1

SubQuestion No : 19

Q19 75 TAR I, BT AR dHNP! Faer 7 o e Sema SRar 8|

Ans X g
v 2. SRl
X 3 d[d

x4 Hi

Question ID : 264330189989
Option 1 1D : 264330743555
Option 2 ID : 264330743556
Option 3 ID : 264330743557
Option 4 ID : 264330743554
Status : Answered

Chosen Option : 2
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Comprehension:

= Ta T T A e s B 4 T E, TS Awia & 9 9R [aeed Y Y § | 59 9 S egde
Ug 2R =R fdaedl & 9 alas IR awd [aeed 911

M S1e H i3 TR & fodl ¥l &1 § B3 it uedr ufed g 9 Sue 2rTel f3H gHR U St War 211 ordl
BT RF TR S G IR BAe S R A T ER E e e Bl &
DB B g1 g 91 gl o 2aead aeg &, 578 Wil g Yo Uad Ugd oud 81 0 ef W fay A gl el
_ H AR TSR SH 900 T § 98 T § gUR) HEE Sl ¢ | SHER U ST, Jaffas,
TS He, SRS, We, SRS SHIER, a9, e, aarsdl, Ao, Je, @ieri, qeiml 201 &1
SRR g el 81 T8 §AR T SR R @b Bl agr 7 gHRT T #3011 Ugd $ g H,
TR T T Sae WeRl o1 fGavu] YR gial oT| STeiiies, 3d SO 95 o fawal & an 1 Ty 3R foxust &
faaR ugt o &, T ot Rt =51 s +f it i 81 950 9 THeR 9= 3 Siad SR o S
TEE IR 8 T TS % SR SeRT-SerT 8l €| THER U AT SR 3 e oies 5t @i
oA HeAN Fafid $0 3 Sl g1

SubQuestion No : 20
Q.20 §gq I GHER i &1 & HT SR § 3T Tadl & IR 3T &7 H WIS & SR SRAT-2T el 81

Ans x 1. %

X2 §GTy
RG]
v 4 faRm

Question ID : 264330189990
Option 1 ID : 264330743559
Option 2 ID : 264330743560
Option 3 ID : 264330743561
Option 4 ID : 264330743558
Status : Answered
Chosen Option : 4
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